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Mock Test for NEET-2024

2 kg respectively are in contact on a frictionless
surface as shown in figure. If a force of 20 N is
applied on block A, then ratio of contact force
between A and B to the contact force between B
and C will be

(2)

Nl N w
N[ =

(4) 1

MM : 720 Time : 3 Hrs. 20 Mins.
MOCK TEST for NEET-2024
[PHYSICS]
Choose the correct answer : TET 3T hT oI hITTT:
SECTION-A GeE-A
Among the following which one is the weakest | freferfad & & T U Ted goel ol oe 27
fundamental force? A
. (1) Terraererehia o
(1) Electromagnetic force ©o
(2) Gravitational force (2) TecdTuOT S
(3) Weak nuclear force (3) g@iﬂmﬁq@aw
(4) Strong nuclear force (4) P EREIRE IR RN
The d:i)’rr;ensio_?rs] ofa;/vooder; bIocI;are g|.1 T:Ztifs 5 W%W@?ﬁw 11mx236mx31ml
X N
m . .m.“ ev.oumtleo wooden block to the & o S & 13 T BT 3
correct significant figure is >
(3) 8.0476 (4) 8.047 (3) 8.0476 (4) 8.047
Two projectiles A and B are thrown from the same | 3. 3 Y&y A 37X B & 907 foie @ 03 v AR % Euk:l
point with velocities u and % respectively. If B is ThehT STTAT 21 If B 1 &YfersT o TTer 45° 0T U1 ekl STTdT
thrown at an angle 45° with horizontal. What is the T afe i %ﬁaww% ar afasT g A
angle of projection of A with the horizontal if their T TETOT T T 27
horizontal range are same?
.11 .11
1) sin” | — 1) sin | —
() [4) W (4j
1. 4(1 1. 41
2) —=sin — 2) —sin —
@ 3(3) @ (3]
.11 .11
3) 2sin”!| - 3) 2sin”'| —
(3) ( 4j 3) ( 4j
1. 401 1. 41
4) —sin"'| = 4) —=sin | -
@ 3n(4] @ 3sn7(3]
Three blocks A, Band C of masses 5kg,3kgand | 4 5 kg, 3 kg A2 kg %W@W: A, B 3T C %

FUTE | T o § SR ST|m €k | &) afe T2+ A
T 20 N T I ST ST &, aF A 3R B o o= dueh
S TAT B FR C o T=l Heh et T ST ST

N[ =

(1) ()

Nl N w

) (4) 1
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5.

A steel sphere of mass m1 moving with velocity of
5 m/s collide with another particle of mas m:
elastically moving in same direction with velocity
2 m/s. The velocity of the particle after the collision
is (m1>>>my)

(1) 10 m/s (2) 4 m/s

(3) S5mis (4) 8m/s

Three identical spheres each of radius ‘R’ are
placed touching each other so that their centres A,

B and C lie on a straight line. The position of their
centre of mass from centre of A is

2R
) = (@) 2R
5R 4R
93 3

A hollow sphere is half filled with water. Which of
the following points, indicate the position of centre
of mass of the system as shown in figure?

(1) A (2) B
@) C (4) D
A particle is executing SHM such that at mean

position it has total energy of 24 J and has potential
energy 4 J, then time-average of its K.E. is

(1) 5J (2) 10J
(3) 204 (4) 15J

When a satellite is shifted from a nearer orbit to a
farther orbit, its

(a) Gravitational potential energy increases
(b) Kinetic energy increases

(c) Gravitational potential energy decreases
(d) Kinetic energy decreases

Choose the correct option.

(1) Only (a) is correct

(2)

(3) (a)and (c) are correct
(4)

(a) and (d) are correct

(a) and (b) are correct

5.

5 m/s ST AT SeTHT m1 T T ol Teh TiedT §9T
fesm & 2 m/s AT @ I M2 SH & U A FOT 9
YOI TEZ HAT 8| HEE h YT HU HT AT ®

(m1 >>> my)

(1) 10m/s (2) 4mis
(3) 5mis (4) 8 mis
A Bsa 'R o i weeH et Uh-gal o Hoeh | g
TR TG MU 2 foh 57k g A, B 3 C T T W@ |

feora €1 5 A W 37 559U &g ol Rufa @
2R

(1) 3 (2) 2R
5R 4R

(3) 3 4) 3

Teh @1 AT ST & 1807 917 2| Fferfiaa # & snen
foig, fomr & qriu o Feprr o seaH g st feafa =t
axifar 87

(1) A (2) B
Q) C (4) D
Teh U1 G ST 1T 36 Yeh reumiee vt &1 & foh Arer
feurfar o 3wl 5 et 24 J iR Rufor et 4 U 2, 7@

THhT TS STl T GHI-3TEd &
(1) 5J ) 10J
(3) 20J (4) 15J

SISl Ush IUNE shi Fehe <ht shedl & L&l shedl § TAHiaid
feRaIT STTaT 2, St

a) WWW%W%
b) TS St oIg STt &

c) el ferferst St = STt §
d) TfersT Sell o1 STt B

T s o1 ==A FifsTg

(1) Fa (a) TET

(2) (a) 3R (d) W&

(3) (a) 3R (c) W&

(4) (a) 3T (b) T &

(
(
(
(
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10.

11.

12.

13.

14.

15.

The work done in stretching a wire by 0.2 mm is
8 J. What will be the work done in stretching another
wire of same material, but with double the radius
and half the length by 0.2 mm?

(1) 32J (2) 16 J

(3) 64J (4) 484

A large open container of negligible mass and
uniform cross-sectional area has a small hole of
area a in its side wall near the bottom. The
container is kept over a smooth horizontal floor and
contains a liquid of density p. Assuming that the
liquid starts flowing through the hole, the
acceleration of the container will be (A is area of
cross-section of container)

2ag ag
(1) 2 ) 7
(3) 2Ag (4) Ag
a a

The coefficient of cubical expansion of water is
negative between

(1) 273 Kand 277 K (2) 0OKand 4K

(3) 300 Kand 304 K (4) 4°Cto 10°C

If y denotes the ratio of two molar specific heats of
a gas, the ratio of slopes of isothermal and
adiabatic P-V curves at their point of intersection for

C
the monoatomic gas will be (y = C_p]
v

(1) ()

wlor N|w
Oy WIN

) (4)

Q = Wis true for (symbol have their usual meaning)
(1) Isochoric process  (2) Adiabatic process

(3) Isobaric process (4) lIsothermal process
The V-I characteristics of a Silicon diode is shown
in the figure. The forward resistance of diode, when
forward current is 10 mA, will be

(1) 20 Q
3) 150

2) 10Q
@) 50

10.

11.

12.

13.

14.

15.

T AR T 0.2 mm & G | o mam vk 8 J 31 wme
et Ao ST BT 37t ATt falms o fohelt 31=1 AR

1 0.2 mm & Ei=- | TR T shRt o BT
(1) 324 (2) 16 J
(3) 64J (4) 48

T A 3R THE STIE-FHIE &%d aTel T
ST et T 3hi T o OTE 39! 9T ST H g &6t T
T BT 5% 81 U e Fereft it ot o T @ A gt
T p 1 T 59 = WHT 59 5% & vafed SHT Ie &
AT &, T U T @7 B (A U T ST

SAHA B)

2ag ag
(1 == @ =
(3) 2Ag 4) Ag
a a

ST T ST JER T otk o<l RUTTcHeh BT 82
(1) 273 K3AT277K  (2) 0K 34K
(3) 300 K304 K  (4) 4°C 3T 10°C

fe y 718 AT 31 AIeR forfRTe FSHTST 3 ST 1 SR e,
T TR T o foTe T 3R wEr P-V a5l %

~ ! C
Sl fofeg T SRl @Il a1 AT EﬁTﬂ(y = _"’j

C,
3 2
) 5 @ %
@ < @ L
Q = W e foTe o 2 (rfient o o1o | 3¢ €)?
(1) ax3ATId -Toh T (2) TG0 TshH
(3) EHETST ThH (4) THATHT TshH

ot # wen Tttt /e &1 V-1 srfsremerfores esiaT
R ST il amr 10 mA 2, 9 SETE i SAufelen

gferier g
I(mA) 4

o] e '

o] —— |

| — 45

07 08 V@)
[ (nA)

(1) 20 © 2) 100
(3) 150 @) 50
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16.

17.

18.

19.

20.

A transverse wave of amplitude 0.25 m, wavelength
2 m and frequency 4 Hz is propagating in a string
along positive x-direction. The equation of this wave
is

1) y=0.25sin (nx — 8xf)
2) y=0.25sin (nx + 8nt)
3) y=0.25sin (4nx — 4nt)
4) y=0.25sin (4nx + 4nt)

The speed of sound in air at STP is 300 m/s. If the
air pressure becomes double, the temperature
remaining the same, the speed of sound would
become

(1) 600 m/s
(2) 30042 mis
(3) 300 m/s
(4) 1200 m/s

Two charges, each of 50 uC but opposite in sign,
are placed 4 cm apart. The electric field intensity at
a point which is at a distance of 4 cm from the mid-
point of the dipole on the axial line.

(1) 108 N/C (2) 10° N/C
(3) 107 N/C (4) 10 N/C

Six charges of same magnitude q are placed at the
six corners of hexagon of side a. The value of
electric potential at the centre of the hexagon will

be [k= L }
4meg

(
(
(
(

(1 X ) 3k
a a

3 29 ) 2
a a

If the current through 3 Q resistor is 2 A, then power
dissipated in 4 Q resistor will be

(1) 18 W
(3) 12W

(2) 36 W
(4) 48 W

16.

17.

18.

19.

20.

T 0.25 m, TORE 2 m 3R JEM 4 Hz il &
ST T STCHe x-a=TT % TfawT Ok SHY # wefed &
T 21 39 T BT TR B

(1) y=0.25 sin (nx — 8xt)

(2) y=0.25sin (nx + 8nt)

(3) y=0.25 sin (4nx — 4nt)

(4) y=0.25sin (4nx + 4nt)

STP W AT H &4+ 3t =Tt 300 m/s 81 AT ATETe IR
1 ST TR A9 9 T, 91 & i =1 & St

(1) 600 m/s
(2) 30042 m/s

(3) 300 m/s
(4) 1200 m/s

50 pC%ﬁWﬁﬁ%ﬁﬁT&ﬁHmﬂ@aﬁﬁ4 cm
W W@ Y E o W W fye & sl |
4 om #ht gt at feera fefg vt ferege &t shi eftsrerr 2

(1) 108 N/C (2) 10°N/C

(3) 107 N/C (4) 10 N/C

VST g ATC! Y o ©: YT TR EH TIHTOT g 6 S ST
W S 2 S % R W o fove @ am e

k = L
[ 4n80]

(1) M ) 3k
a
3 29 @

Ifg 3 Q UfAiee & JaTed 9/ 2 A 8, df 4 Q Sfeties
o =g wifek Bt

(1) 18 W
(3) 12W

(2) 36 W
(4) 48 W
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21.

22.

23.

24.

25.

In a potentiometer circuit a cell of e.m.f. 3 V gives
balancing point at 45 cm length of wire. If another
cell of e.m.f. 2 V replaces the first cell, then at what
length of the wire, the balancing point occurs?

(1) 30cm (2) 20 cm
(3) 60cm (4) 40cm

Magnetic induction at the centre of a current
carrying circular loop of area n square metre is
0.2 Tesla. The magnetic moment of the loop is (uo
is the permeability of air)

() 2 @ 22
Ho Ho
(3) 0.4n (@) 0.3n
Ho Ho

A circular wire loop of radius r rotates about the
y-axis with angular velocity ®. The normal to the
loop is always perpendicular to the y-axis. At time

t=0, the normal is parallel to the z-axis. An external
magnetic field B= Byj +lez is applied. The
e.m.f. (¢) induced in the loop is

(1) mrPoB, sinwt (2) nrwB; cosot
(3) mrPwB; sinwt (4) mrPwBy coswt

In the given R-C circuit, if the voltage across the
resistor is 80 volt, then the capacitance is nearly

(1) 53 uF (2) 212 uF
(3) 112 uF (4) 2 uF
The minimum deviation produced by the prism having

refractive index \/g as shown in the figure is

(1) 60°
(3) 15°

(2) 45°
4) 30°

21.

22.

23.

24.

25.

U forvremTdt uftaer & faana. 3 v 1 s Ao aR i 45
cm TS T Her feig adm 21 afe forama. 2 v & uh o=
U H et Ut i SfreeTid 3 feam ST, dt Sqer fig

IR T e ovaTs o ITe Bft?
(1) 30cm (2) 20 cm
(3) 60 cm (4) 40 cm

&R 1 3 HISK % Toh IETE! Jamehi o7 & g T
SRR STOT 0.2 THAT 2| T T eTohrd ST & (o AT

T TraeRRiierd &)

(1) & @ 2%
Ho Ho

@ 24 @ 2
Ho Ho

TISAT 1 261 0o AR AT ST y-3787 o |IUE HI0i 9 o
 FUI AT 21 T R AR T y-378 & werad ardr
BT t = 0 W, AT 2-3787 F THIGL BT 81 Toh STl
ekt & B =By, ] + B,k T R STt 81 9 # S
faara, (s)%

(1) mrPoBy sinmt (2) nr?wB; cosot

(3) mrPwB; sinmt (4) mrrwB, coswt

few Tw R-C Uity o, ¢ gfatrers & R w dieear 80
e 7, AT it e B

(1) 53 uF
(3) 112 uF

fo @ 2w T STgedHiE \E e o9 g S
= e 8

(2) 212 uF
(4) 2 uF

(1) 60°
(3) 15°

(2) 45°
@) 30°
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26.

27.

28.

29.

30.

Distance of an object from the first focus of an equi-
convex lens is 20 cm and distance of its real image
from second focus is 80 cm. The focal length of the
lens is

(1) 20 cm
(3) 40 cm

(2) 60 cm
(4) 30cm

In Young’s double slit experiment, 50 fringes are
observed in the central view zone with light of
wavelength 4000 A. The number of fringes that will
be observed in the same view zone with the light of
wavelength 5000 A is

(1) 6
(2) 50
(3) 30
(4) 4

The tangent of polarizing angle according to
Brewster’s law is numerically equal to

1
2
3
4

Mass density of the medium 2
Refractive index of the medium 2

(1)
(2)
(3) Velocity of light in medium 2
(4) Elastic modulus of medium 2

An electromagnetic radiation has an energy
14.4 keV. To which region of electromagnetic
spectrum does it belong?

(1) Infrared region
(2) Visible region

(3) Microwave region
(4) x-ray region

What should be the approximate velocity of an
electron so that its momentum becomes equal to
that of a photon of wavelength 4800 A?

(1) 1000 m/s (2) 1500 m/s
(3) 700 m/s (4) 100 m/s

26.

27.

28.

20.

30.

Teh T3 o1 o T8l ishd ¥ Teh aiq 2l gl 20 cm
2 ST T B § 36 aTere sl 1 i 80 cm
HISEEIRICE]
(1) 20cm (2) 60 cm

(3) 40cm (4) 30 cm

2 o et ST H, 4000 A TUTCE o YeRreT & |
5T gv & 7 50 Tt Sférd 2ieft 81 qimesd 5000 A
YIS o W19 THH g9 &7 H Yfad g arct Sk
e g

(1) 60

(2) 50

(3) 30

(4) 40

ST [ o STTHT $IE0T ShivT shi THRISAT GEATcHe: &
o foreeh SRS BTt 27

(1) HTEAT 2 % SoIUH e
(2) HTEIN 2 & 9
(3) WTEAW 2 H YEHIRT o T
(4) WTEAW 2 3 ST TN
U A fafeer & S 14.4 keV 8l TS
TRl een o fore & @ Heifer 22
(1) 3TITH &
) FEE
(3) EHaLT &
) x-Tertor &
T SR BT ST ST foheT 21T =TT foh garehT W
4800 A TTRE % Teh I o Hol o SIe &l STU?

(1) 1000 m/s
(3) 700 m/s

(2) 1500 m/s
(4) 100 m/s
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31.

32.

33.

34.

35.

The nuclei count observed from a radioactive

Tk SR G © ¢ Tehe T Ufard Tfiyent shl E&ar No
Bl ® 31 2t Yohe WIE % B 2 % e T I
Trfyent sl e Bl

No No
(1) 32 (2) 16
No No
(3) 3 4) o4

BTEGISI TV 3 SATE ST H etz T T Hiel
T TS STEgIS ST TRATY] (ST ik Z) < fefiar
SITST eI H A o6 HTaI b1t b <1 A1 &l Z
qER

(1) 4 (2) 2
(3) 3 4) 9
e foa mam wftwe fopesh g 22
(1) NORTe

(2) ORI

(3) AND ¢

(4) NAND ¢

Teh I 38 U W x-y ac § TH & 76k ger 0 x2 +
y2 = 16 R Yef¥ta foha ST 7, Sef x qer y Het 7 2
IS R HT T THEHM & TUT THHT A 4 m/s B, T HR
T T BT

(1) 4 m/s? (2) 42 m/s?

(3) 242 m/s? (4) 2 m/s?
TR SHITE o foru fou 7o ufter #, S & yanfead e g

31.

source at t second was No and at 2t second it was
N
TO . The nuclei count observed at % second will
be

No No
1) — 2) —
(1) 30 (2) 16

N, N,
3y 0 4) 20
(3) 3 (4) o4
The time period of electron in the ground state of 32.
hydrogen atom is three times the time period of the
electron in the second excited state of a certain
hydrogen like atom (atomic number Z). The value
of Zis
(1) 4 2) 2
3) 3 4) 9
The circuit given below is equivalent to 33.
(1) NOR gate
(2) OR gate
(3) AND gate
(4) NAND gate
A car is moving in x-y plane on a track whose path | 34,
is described by x2 + y2 = 16, where x and y are in
metres. If speed of car is uniform and equal to 4
m/s, then acceleration of the car will be
(1) 4 m/s? (2) 4+/2 m/s?
(3) 22 mis? (4) 2 m/s?
In the given circuit for ideal diode, the current
through the battery is 35.
(1 2A (2) 25A
3) 1A (4) 1.5A

(1) 2A
(3) 1A

() 25A
@) 15A
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36.

37.

38.

39.

40.

SECTION-B

What are the respective number of o and
- particles emitted in the following radioactive decay?

(1) 7and 6
(2) 8and 6
(3) 6and 8
(4) 8and 8

The radius of curvature of a convex mirror is 80 cm.
When a real object is placed at A its image is
formed at B. If the size of image is half that of the
object, then distance between A and B is

(1) 20 cm (2) 30 cm
(3) 40cm (4) 60 cm

Two electric bulbs whose resistances are in the
ratio of 1 : 3 are connected in parallel to a constant
voltage source. The power dissipated in them has
the ratio
(1) 2:1

3) 1:4

) 3:1
@) 1:9

A magnetising field of 5000 A/m produces a
magnetic flux of 5 x 10-% weber in an iron rod. If the
area of cross-section of the rod is 0.5 cm?, then
permeability of the rod will be (in Sl units)

A rod of length ¢ slides on two long horizontal rails

as shown in the figure. The emf induced between
the ends of the rod is

J3Bvr¢ Bv/
(1) 5 (2) -
(3) 3Bvr 4) Bvr

36.

37.

38.

39.

40.

©Ts-B
e eamatsra & o AN o 3T p- ol il Tm
UM B

1) 736
2) 836
3) 638
4) 838

Teh 3Tcd 90T ShT kT 35T 80 cm 1 STeT U ST&dfaish
FE T A T TG ST &, A 36T Sferfeier B 7 T gar 2
aif sifafeiar 3T SATHR aq o TR T 3T 2, AT A ST
BHATH 2

(1) 20cm

(
(
(
(

(2) 30cm

(3) 40cm (4) 60cm

a1 forgget sreet ook Wit 1 s7gaT 12 3 8, ok
Fieedr | & FHiat § w8 3 sl wifw w5
ERRIGK

(1) 2:1 2) 3:1

(3) 1:4 @) 1:9

5000 A/m T T& T &7, Ale Hi el o3 &
5 x 1075 JeR Yo TG Iq~ FHLAT 2l A B
ST I &R 0.5 cm? B, TN B i eehefierar arft
(S| AT T)

(1) 1x 107

(2) 2x 10

(3) 3x 105

(4) 4 x10°

eS¢ T TR S A et afas gefEr ) o 6 g
SO fraerdt 21 3 & ol & e Ifed framar, @

J3Bvi Bv/
(1) > 2 —-
(3) 3Bvr (4) Bvt
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41.

42.

43.

44,

45.

46.

Four capacitors are connected in a circuit as shown
in figure. The effective capacitance between point
A and B will be

(1) 4 uF (2) 2 uF

(3) 6 uF (4) 1pF

Two equal negative charges —q are fixed at the
points (0, a) and (0, — a) on the y-axis. A positive
charge Q is released from rest from the point (2a,
0) on the x-axis. The charge will

1
2
3
4
A car turns a corner on a horizontal road at a
constant speed of 10 m/s. If the coefficient of friction
is 0.5, the minimum radius of the turn (in metre) so
that car can turn safely is

(1) 20m (2) 10m

(3) 18 m (4) 36 m

A stone of mass 10 kg is lying at the bed of a large
lake 10 m deep. If the relative density of the stone
is 2, the amount of work done by external force to
bring slowly it at the surface of the lake will be
(neglect all resistive forces)

(1) 490J (2) 245J

(3) 385J (4) 770J

A homogeneous disc with a radius 0.1 m and mass
4 kg rotates about an axis passing through its
centre and perpendicular to the plane in the
influence of a tangential force. The angular velocity
of the disc as a function of time is given by the
formula ® = (4 + 3t) rad/s. The tangential force
applied to the rim of the disc is

(1) 1.2N (2) 1.8N

(3) 0.9N (4) 06N

Surface tension of a liquid is numerically equal to

Execute S.H.M about the origin
Moves to the origin and remains at rest
Moves to infinity

(1)
(2)
(3)
(4)

Execute oscillatory motion but not S.H.M

(1) Force on the surface
(2)
(3)
(4)

Surface energy
Potential energy
Surface energy per unit area

41,

42.

43.

44.

45.

46.

T i H =R EeTiT o g STger waita 2 feig

A 3R B % o= gurelt efear arf
(1) 4 uF (2) 2 uF
(3) 6 uF 4) 1pF

2l AT SRTCH AT —q, y-3eT T gl (0, a) 3TN
(0, — &) T Teer 8| T 9T AT Q i x-378T W foig
(2a, 0) ¥ forr & Brer STTaT 81 31maT

(1) Herfsig o WUl T SATef Tl HuT

(2) Hetferg ek Tifet sHam R ferraTareer 7 311 smem
(3) 3T e TIf T

(4) AT T BT AR TS AT T &l hT

T R SfdsT ggeh T forelt wig 7 10 m/s g e &
SHT 21 Ffe ST uTiek 0.5 ¥, Ui &9 4 g W o

o1 Hirg ot =pam frear (et #) 2
(1) 20m (2) 10m
(3) 18m (4) 36m

10 kg SoTHT 3T Teh Te2 10 m TTedl Teh aTe) 3fieT 3h aeit
ot e B afe weer w1 3TTaférer v 2 7, Ot ey S/ g
T4 ¢ff-efit 3fiet Y T wC e | fopar e v B (gt
gfcrieft s/t i U )

(1) 490J (2) 245

(3) 385 @) 770 J

a1 0.1 m 3R S5HH 4 kg aTelt T guiht fowh
TR o o TTE 370 33 & oA Tl 3T ad %
TSET 3T&T o WU HUM LA & T o e o w9 H
TS FT IR ST ¥ o = (4 + 3t) rad/s SRT A AT

Sirar B feeh it T ot o esiefig s @

(1) 1.2N (2) 1.8N

(3) 09N (4) 06N

TRet 5 BT I8 T SEaTeHe &9 ¥ fohtreh SRIs 21T 22
(1) BRSA

HRLREEI

(3) Teafast et

(

4) i TS &he TERT Sl
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47. Two identical rods of same material, transfer a
given amount of heat in 16 second, when they are
joined in series. If they are joined in parallel, then
they will transfer same heat in same condition in

time
(1) 4s (2) 32s
(3) 48s (4) 64s
48. A particle performs simple harmonic motion about
x = 0 with an amplitude a and time period T. Speed
of the particle at x :g will be
na 3na
1) — 2
(1) T (2) T
@) P @y 88
T 2T
49. The equation of stationary wave along a stretched
string is given by y:5$in%x cos 40nt (where x
and y are in cm and t is in second).
The separation between consecutive node and
antinode will be
(1) 1.5m (2) 3m
(3) 2m (4) 4m

50. A ball is dropped freely from large height while
another is thrown vertically downward with an initial
velocity ‘v’ from the same point, simultaneously.

TuT vere it 31 THH Bl Sre Avf § G fomar
AT, AT T 16 Yohe | AT Y Ueh (A o s
Lt B afe 32 ariaT & G foram Siram ®, df 3 gH e
Teorfer & g oA foha To=r o SrTa G HTf?

(1) 4s (2) 32s

(3) 48s (4) 64s

Teh 0T x = 0 o GTIET 3T g 3 A1ad Hied T et

A TEd TG T 8l X =g T ST T =T B

47.

48.

na 3na
(1) T (2) .

a3 a3
3) T (4) T

49. UF AT SHY F TR ST T % HHiHOT HI
y:5sin%x cos 40nt ST Sk FoRAT ST © (STET x 3R

y,cmHEZ SR tAHSHR) |

AT g 3R g ¥ e ot g entt
(1) 1.5m (2) 3m
(3) 2m 4) 4m

50. T 11 I a5 Af TS o T ®9 F R S @
STeife St < |1 gHY Tie 2! T foig & Trfves 9 v o
1oy Feater 1= it T ShehT ST B1 ' Uehs o 1€ 3

After ‘' second they are separated by a distance of aﬁaaﬁraﬁ%

vt gt2 vt gt2
1) = 2) =¥— = z_
1 5 2 = M 3 @ =
(3) vt (4) vz‘+%gt2 (3) vt 4) vt+%gt2

[CHEMISTRY]
SECTION-A Te-A
51. An lzc))rgani((:j compoynd contai:s 92.f3;/od(by wei_g}r;t) 51. T e A 92.3% (s gfd &) e s s

carbon and remaining percentage of hydrogen. The & 5 A 5
empirical formula of the compound is z 12l A2k QN 1‘:‘3%
(1) CH: (2) CHs (1) CHz (2) CHs
(3) CH (4) CHa (3) CH (4) CH4

52. Mass of concentrated nitric acid solution required to
prepare 400 mL of 3 M HNOs solution is (The

concentrated nitric acid is 70% (%j HNO3)
(1) 60g
(3) 142¢g

) 829
(4) 108 g

52. 400 mL, 3 M HNO; e sA & fou s1mawaes dig
3ok Tt forere 1 Soam & (i Tsfees 3 70%

(%) HNOs )

(1) 60 g
(3) 142 g

) 82g
(4) 108 g
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53.

54.

55.

56.

57.

58.

59.

14.2 g of Na2S0q is dissolved in 200 g of water. If
dissociation of salt in the solution is 90% then the
freezing point of the solution will be

(K of water = 1.86 K kg mol-")
(1) -1.8°C (2) -3.6°C
(3) —2.6°C (4) -4.1°C

The solubility of AgBr having solubility product 5 x
10-"3in 0.1 M CaBrz2 solution will be

(1) 5x10-2M (2) 2.5 %102 M
(3) 2.2 x 106 M (4) 5x 1010 M

Which among the following contains highest
number of atoms?

(1) 8 gof CHs (2) 16 g of SO2
(3) 9 g of CeH1206 (4) 22 g of CO2
Statement I: lonic radius of O~ is greater than F-.
Statement Il: O2- and F- are isoelectronic species.

In light of the above statements, choose the correct
answer from the options given below

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect

(3) Statement | is correct but statement Il is
incorrect

(4) Statement | is incorrect but statement Il is
correct

For He* ion, the de Broglie wavelength of electron
in third Bohr orbit is

[Given that Bohr radius, ao = 52.9 pm]
(1) 79.4w pm (2) 158.77 pm
(3) 211.6m pm (4) 92.4n pm

The angular momentum of an electron in 3p orbital
is equal to

(1) 23n @) 3
3) V6n 4) \2n

Pair of isostructural molecules among the following
is

1
2
3
4

BClz and CIF3
XeOs and SO3
NHs and PCls

)
)
)
) SFs4and XeF4

(
(
(
(

53.

54.

55.

56.

57.

58.

59.

14.2 g, Na2S04 31 200 g STl § =t St 81 Afe e
o a7 o1 forRISTT 90% &, a foreta a1 femiss g
(ST <hT Kr = 1.86 K kg mol-")

(1) -1.8°C
(3) —2.6°C

(2) -3.6°C
(4) —4.1°C

5 x 1013 forctardT % At AgBr %1 0.1 M CaBra
T # forcrerar gt

(1) 5x10-2M (2) 25% 102 M

(3) 2.2x 106 M (4) 5x 1010 M
freaferfaa & & foret wToTett it He v T 22
(1) 8 g CHa (2) 16 g SO2

(3) 9 g CeH1206 (4) 229 CO:

M |: 02 <l STrIfeh forsam F- st erder s1feren 2t 21
e II: O TAT F- GHSAFSH1T Tt &

SO T o TR 0T, = fw Tw forshedt § & @ 3
T = IS

(1) o | AT e || ST Tt &

(2) T | qAT HA || ST TTeAd &

(3) YT | T 2 AT e || T ®

(4) YT | T 8 AR e 1| T R

He* 3T o foTu, qeffar s shem § goiaeia ohr 21 STt
e ®

[ferarm e & for st frsam, a0 = 52.9 pm]

(1) 79.47 pm (2) 158.7n pm
(3) 211.6n pm (4) 92.47 pm
3p heTeh T Ueh ST T ShIV(T ATl &Il &
(1) 243n ) Bh

(3) V67 (4) V2n
frfeTfiaa 7 & FreETETeTsh STl 1 W §

(1) BCl; @ CIF3
(2) XeOs T SO3
(3) NHs @ PCl3
(4) SF4 T XeFa

Corporate Office : Aakash Tower, 8, Pusa Road, New Delhi-110005. Phone : 011-47623456
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60.

61.

62.

63.

64.

65.

For He* ion, the correct order of energy of the
atomic orbitals is

(1) 4d=3d>4p=3p>5s=4s5s=3s
(2) 5s>4d>4p>4s>3d>3p>3s
(3) 4d>5s>4p>3d>4s>3p>3s
(4) 5s>4d=4p=45s>3d=3p=3s

If rate constant of a reaction is 9.212 x 10-3s~" then
the time required for the completion of 20% of the
reaction will be

(1) 200's
(3) 50s

In which of the following options, the order of
arrangement does not agree with the variation of
property indicated against it?

(1) B <C < O < N (lonisation enthalpy)

(2) O <Te < Se < S (Electron Gain enthalpy)
(3) MgO < CaO < SrO < BaO (Basic nature)
(4) Si< Al<C <N (Electronegativity)

(2) 100's
4) 25

Which among the following complex ions has
highest spin only magnetic moment value?

(1) [Co(H,0),1**

(2) MnClg]*-

(3) [Fe(CN)I*

(4) [Mn(CN),I*

Correct order of boiling point of the given
compounds is

1) HI > HF > HBr > HCI

2) HF > HI > HBr > HCI

3) HF > HCI > HBr > HI

)
)
)
4) HI > HF > HCI > HBr

(
(
(
(
An aqueous solution of Ni(NOs)2 is electrolysed
between platinum electrodes using a current of 3.86
amperes for 100 minutes. The mass of nickel

deposited at the cathode is (Atomic mass of nickel
= 58.7 u)

(1) 16.2 g
@) 749

(2) 359
(4) 1049

60.

61.

62.

63.

64.

65.

He* 3118 3 ToTU, TRATUTET shefehi sh SsTl oh1 T8l 3hH &
(1) 4d=3d>4p=3p>5s=4s5s=3s

(2) 5s>4d>4p>4s>3d>3p>3s

(3) 4d>5s>4p>3d>4s>3p>3s

(4) 5s>4d=4p=4s>3d=3p=3s

It fereft stfrfsram ot 3 femiar 9.212 x 1031 &, T
AR % 20% of B 3 fore strarwereh Ty gem

(1) 200's (2) 100's

(3) 50s (4) 25

Freferfiaa # @ forwr forerea o, formrmer =61 sh0 s8e e
ffde 7707 3 aftEd & ATET T 82

(1) B<C <0 <N (315 Tdh)

(2) O < Te < Se < S (FF Aleyr T

(3) MgO < CaO < SrO < BaO (&R W)

(4) Si<Al<C <N (forI=Rur)
frfafiad o & fore €%cT AT % SR AT JFTehi
STET 2T AT AR 87

(1) [Co(H0) >

(2) [MnClg*>

(3) [Fe(CN)I*

(4) [Mn(CN)J*

fw 7T it 3 FarereTich 1 wel 5 2

(1) HI> HF > HBr > HCI

(2) HF > HI > HBr > HCI

(3) HF >HCI > HBr > HI

(4) HI>HF > HCl > HBr

AT SFeISl o HET 3.86 UAUIT ol 9T o SUAT &
Ni(NOs), o STefir forere =1 100 e e ferggarataere
fopam ST 21 heite W i frehet w1 semm ' (ke
T T FHH = 58.7 u)
(1) 16.2¢g

(3) 79

2) 359
(4) 1049

Corporate Office : Aakash Tower, 8, Pusa Road, New Delhi-110005. Phone : 011-47623456
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66.

67.

68.

69.

Consider the following reaction sequence

Ehéj

Maijor product C is

OH OH
(ﬂ[il\ (2)
Br
Br
OH OH
Br Br Br
(3) (4)
Br Br
In which of the following conversions, the bond

order increases and the magnetic behaviour
changes?

(1) N, >N;

NaNOJHCI |\ HO o Br,

0-5°C A H,0

C (Maijor)

(2) NO —»>NO*
(3) 0,-»0} 4) H, »>H,

Which of the following is the correct option for free

expansion of an ideal gas under adiabatic
conditions?
qg=0 w=0 AU=0 AT=0
I Il 11 v
(1) lonly (2) land IV only
(3) I, lland lll only (4) 1,1, Mand IV
Major product of the given reaction is
O NH,
Br,
NaOH

OH O Br
(1) (2)

NH, NH,

(4)

66.

67.

68.

69.

frferfiad stfirferan srgsrm ot fomm shifse
& 3TE C 7
OH OH
(1) (2)
Br
Br
OH OH
Br Br Br
(3) (4)

Br Br
frafefaa o & fore waiawor o, dY 69 agar g IR
Terhi SRR qfafdd & ST 82
(1) N, >N, (2) NO —NO*

(3) 0,0 4) H,=>H,
wEro ARl § T STeRl 19 % T TER % AT
fraferfaa & & st sy w22
g=0 w=0 AU=0 AT=0
| I I \Y
(1) Faet | (2) A | ARV
(3) sHaeA |, 11 ST (4) 1,11, 11 3R IV
rer € 718 AR 1 qea s @
Oy _NH,
Br,
NaOH
OH O, _Br
(1) ()
NH, NH,

(©) (4)
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70.

71.

72.

73.

Which among the following will react fastest by Sn1
mechanism?

(1) ()

3) (4)

Most acidic compound among the following is
OH OH
(1) © 2) ©
CH, C
OH OH
(3) © ) ©
OMe NO,
Compound A having molecular formula CsH11N on
reaction with benzenesulphonyl chloride gives B

which dissolves in aqueous alkali. Compound A
could be

(4)

Statement |: Sucrose on hydrolysis gives equimolar
mixture of D-(+)-glucose and D-(-) fructose.

Statement Il: Sucrose reduces Tollens’ reagent.

In light of the above statements, choose the correct
answer.

(1) Both statement | and statement Il are correct
(2) Both statement | and statement Il are incorrect

(3) Statement | is correct but statement Il is
incorrect

(4) Statement | is incorrect but statement Il is
correct

70.

71.

72.

73.

Frafafaa o @ sar v Sat Tratfafer gro disar &
AffsRaT HEm?

(1) ()

(3) (4)
ffcTRaa o & waifess sl i o

OH OH
(1) © (2) ©
CH, C
OH OH
3) | (4) | |
OMe NO,

IR CaH11N AT AR A 3l SIETH I FTARES
o |1 HNITRAT U B ITH BT & ST STeftar & | foret &
ST 21 AR A B EehaT &

DIV VA N ANZAN
2 H

N (4)

T |: FhIS o STASTEHET T D-(+)-TefhIST T D-~(-)
ShAREIST ohT QaHICH, FHoT SITH & 2

T |1: FEhIST 2o SRR T TR L 3T &
IHIH T o ST I, T I T = TS
(1) e | AT e || ST Tt &

(3) /\
—

(2) YT | TATHY || ST TeAd &
(3) AT | TE B AfRT U || TAd
(4) AT | T & AR o || TET
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74.

75.

76.

77.

78.

79.

80.

Which among the following will liberate highest
amount of energy on catalytic hydrogenation?

(1) Y () X
3) \\% (4) i/Y

In sulphur estimation, 0.5 g of an organic compound
gave 0.699 g of barium sulphate. The percentage
of sulphur in the compound is (Molar mass of
BaS0O4 = 233 g mol)

(1) 27.5% (2) 19.2%

(3) 42.5% (4) 10.5%

The pair of compounds which can be distinguished
by NaOl is

(1) Ethanol and Ethanal

(2) Acetone and Benzaldehyde

(3) Acetophenone and Ethanol

(4) Benzaldehyde and Propanal

Which among the following is not formed in the
given reaction?

(1) CHs—CH = CH - CHO

(2) CH,-CH,— rls =CH-CHO
CH

3
(38) CH,-CH= (|3— CHO
CH

3
(4) CHs—CH2—-CH = CHCHO
Which among the following ions is colourless in
aqueous medium?
(1) Cu® (2) V3
(3) Sc* (4) Ni2*
Which among the following is tetrahedral in shape
and diamagnetic in nature?
(1) [PtCla*- (2) [Ni(CO)4]
(3) [Cu(NHs)4J?* (4) [Pt(NH3)2Cl2]
The standard Gibbs energy change for the given
cell reaction will be

(Given: EA =-1.66 V and EC

—_ ~0.34V)

u2*/Cu
2Al(s)+3Cu?* (aq) — 2A1%* (aq) + 3Cu(s)

(1) =579 kJ mol-" (2) 1158 kJ mol-"
(3) —386 kJ mol-" (4) 965 kJ mol-!

74.

75.

76.

77.

78.

79.

80.

FrferRad o o forueh SR BTgS IS eRtoT Wt 31fershad
AT H ST 7h ST?

() Y @ \UA
®) \j\/\\; @) 1/\/1//

TEH & ATha H, 0.5 g FHEHH Ik T 0.699 g
ST othe W BiaT 21 Aifies § Howl 1 afawa ®
(BaSO4 3T HIeR 599 = 233 g mol-")

(1) 27.5% (2) 19.2%

(3) 42.5% (4) 10.5%

I I o ATRT B NaOl SR fersifea fopa S wreherm
2?

(1) TS qm v

(2) TEHH qer setfeeess

(3) THITEHIN qeIT ToHTe

(4) sfceeTse q Tua

Frar & 2 srfafsrn § fefafad § @ e Sare 1=t
AT R?

(1) CHa—CH = CH - CHO
(2) CH,—CH,—C=CH-CHO
|
CH

3
(38) CH,-CH= (|3— CHO
CH

(4) CHs — CH2 — CH = CHCHO
freforiad & @ si=ar e Sieft qrerm § T 8T e

(1) Cuz 2) v

(3) Sc3 (4) Ni2*

freafafad & & foraehl sTfT SIqehemehia & qem TeHf
EIREECIR S

(1) [PtClJ>- (2) [Ni(CO)d]

(3) [Cu(NHa)4J?* (4) [Pt(NHs)2Cl2]
= & 72 o stfufsrn & fore wes fisw et afeda
il

(e E° =—1.66 V I E_

ABHAL T =0.34V)

u2*/Cu
2Al(s)+3Cu?* (aq) — 2AI%* (aqg) + 3Cu(s)

(1) =579 kd mol-" (2) —1158 kJ mol-"
(3) —386 kJ mol-" (4) —965 kJ mol-!
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81.

82.

83.

84.

85.

The gases obtained on the reaction of copper and
zinc with dilute nitric acid respectively are

(1) NOz2and N20 (2) N20 and N2

(3) N20 and NO (4) NO and N20

A gas is allowed to expand in a well insulated
container against a constant external pressure of
5 atm from an initial volume of 1.25 L to a final
volume of 3.25 L. The change in internal energy AU
of the gas will be

(1) -625J (2) -882J

(3) —1311J (4) -1013J

The bond dissociation enthalpies of A2, B2 and AB

are x, y and z kJ/mol respectively. The enthalpy of
formation of AB in kJ/mol is

X,y X+y-z
(1 2+2+z (2) 5

X Yy X z
3) —+=- 4) —+y——
(3) S+5-2 @) Sy

Consider the following reaction sequence.

Maijor product C is

(1) /\Nf\ @) /\(\
2 OH

@) /NN @ NN\

Match the compounds given in column | with their
chemical nature given in column Il

Column | Column i
(a) CO (i) Amphoteric
(b) Na20 (ii) Neutral
(c) Cl207 (iii) Basic
(d) Al203 (iv) | Acidic

Choose the correct match.

(1) (@) — (i), (b) — (iii), (c) — (iv), (d) — (i)
(2) (a) - (iii), (b) — (i), (c) — (iv), (d) — (i)
(3) (a)— (i), (b) —(iii), (c) — (i), (d) — (iv)
(4) (a)—(iv), (b) —(iii), (c) — (i), (d) — (ii)

81.

82.

83.

84.

85.

T e fSieh sht A sfeen 3tvet o |y AfwfoRa ot e
B ATt 7 s §
(1) NOz T N20
(3) N2O @ NO

(2) N20 @7 N2
(4) NO @ N2O

T T3] ALE © Fareish 9T H G 116 %1 5 atm & fad
MRS <19 o fo%g 1.25 L o YR SA—aT & 3.25 L &
3ifam ST aek ST B T ST 21 i S STt
Tt qiEad AU i

(1) —625J (2) -882J
(3) —1311J (4) —1013 J
Az, By 3T AB it ot forisH wdied) shAsT: x, y 3R
z kd/mol B AB =l @vaT Toedi( kd/mol H) &
Xy X+y—-2z
(1) §+§+z (2) 2
Xy X z
(3) §+§—z (4) §+y—§
freferiaa stfvrforan srgerm o formm Aifs
&I IE C &

(1) /\/\ )
3 N\ @) NN\

Hiaq | ¥ feu mu Afient w wiew 17 & S SR

e TahfT o BT gaferd iy
A | Earc el
(@) |CO (i) i ppril
(b) | Na2O (ii) RHCIE]
(c) | CLOr (iii) 31K
(d) | AlOs (iv) Gty
Tl o =1 == hifsg

(1) (a) = (i), (b) — (iii), (c) = (iv), (d) = (i)
(2) (a) = (iii), (b) = (ii), (c) = (iv), (d) = (i)
(3) (a) = (i), (b) — (iii), (c) = (i), (d) = (iv)
(4) (@)= (iv), (b) = (iii), (c) = (i), (d) = (ii)
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86.

87.

88.

89.

90.

91.

SECTION-B
The salt which undergoes only anionic hydrolysis is
(1) NH4CI (2) CH3COONHq4
(3) NaCl (4) NaCN

Which among the following is an aromatic species?

® @
TeaNEle
o
Je
The hybridisation of C in diamond, graphite and
Buckminsterfullerene respectively are
(1) sp?, sp?and sp
(2) sp?, sp? and sp?
(3) spd, sp? and sp?
(4) sp?, sp®and sp?

Consider the following reaction at equilibrium
N, (g)+3H, (g) = 2NH; (g)

If small amount of helium gas is added to the above
equilibrium at constant pressure and temperature
then

(1) Formation of ammonia increases

(2) Dissociation of ammonia increases

(3) There is no effect on equilibrium

(4) Equilibrium constant value decreases

Which among the following species, does not show
disproportionation reaction?

(1) ClO- 2) Clo;

(3) ClO; 4) Clo;

In which of the following reaction(s), methane is
formed?

. CH, —Br+Na—>»Eher,

— NaOH+CaO
Il. CH,COO Na"——=—-=2

electrolysis

. CH,COO™Na"(aq)————""—

(1) lonly
(3) II'and Il only

(2) Il only
(4) I, 1land Il

86

87.

88.

89.

90.

91.

©Ts-B
SHIET AT Shaled SRk SITSTIEI STl 872

(1) NH4CI (2) CH3COONH4
(3) NaCl (4) NaCN
Freafafaa & @ e e it wfivfis 87

® @
g 0

©
" A w0
&, UFT5E S THUIGA H C o HhUuT AT &
(1) sp?, sp? 3 sp
(2) sp3, sp? 3N sp2
(3) sp3, sp? I sp3
(4) sp2, sp® 3N sp?
frefarfea g & stfufsran w foem fifse
N, (9)+3H, (g) = 2NH;(9)
Ifs fRrd a1 qen 919 W IWIE 9 ¥ 37ed o
S g fereft S 2, 7=

(
(
(3) HTHA YT IS JwTel el Ugell &
(4) | feeish &1 AT gear @
frforfiaa 5 & i SRl SrammaTa AR T8
LIRS
(1) ClO~ 2) Clo;
(3) ClO; 4) ClO;
freferfiaa & & et tfrfsramerisforerey & A9 st
N

Ih PR

. CH,-Br+Na—I2 ¥,

. CH,COO Na* o0,

lll. CH,COO Na(aq)— 8 =T,
(1) e | 2) ¥l
(3) Fae I I (4) 1, 1131
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92.

93.

94.

95.

96.

Which of the following pairs of compounds can be
distinguished by carbylamine test?

(1) CHs — NH2 and

(2) CHs — NHz and @NH2

(3) CH3 — CHz2—NHz and

CH,NH,

(4) CHs— NH — CHs and

Assertion (A): Aqueous solution of borax is acidic
in nature.

Reason (R): Borax on reaction with aqueous
hydrochloric acid gives boric acid as one of the
products.

In light of the above statements, choose the correct
answer.

(1) Both (A) and (R) are correct and (R) is the
correct explanation of (A)

(2) Both (A) and (R) are correct and (R) is not the
correct explanation of (A)

(3) (A)is correct but (R) is not correct
(4) (A)is not correct but (R) is correct

Crystal field stabilization energy for a high spin d®
octahedral complex is (P is the pairing energy)

(1) 0.6A0 + 2P (2) Zero
(3) —2.4A0 + 2P (4) 1.2A0+ P

Most basic compound among the following is

2
NH,

) é
If the rate constant of the reaction, X — Y is
2.5 x 10~ mol L-' s=! and initial concentration of X

is 3 M then the concentration of Y after 100 minutes
will be

(1) 0.5M
(3) 1.5M

()

—~<
Iz
-

X
(4)| Z
N

2) 1.0M
4) 2.0M

92.

93.

94.

95.

96.

freaferfea & & fore v 3 <fifirent 7t shfeferaefia odamor
g forifed foram s werar 22

(1) CHs — NH2 3ﬁt<§>—cH2NH2
(2) CHs — NH: ﬁT@»NH

(3) CHs — CH2 — NH2 3T
(4) CHs— NH — CHz 3R

FHYT (A): T HT A TSI STt Faher 1 2rar

2

THIUT (R): SN il AT SRSl 3T o d1Yf

TSRIT 0 Ueh ScuTe & 9 | sk 3TFe ITH BT 2

IJUITH AT ok STEMT T T 3T AT =5 hIfA)

(1) (A) 4T (R) aHT @& & a1 (R), (A) I @&l
AT

(2) (A) TIT (R) QT Tt & T (R), (A) it a&t SFmen
EHES

(3) (A) TEI 2 AT (R) Tl T @

4) (A) Tt T e Afeh (R) Tt @

T a0 TR0 oS STEHCTh I Wohet o 11g, foreeet &t

TR Fs1 & (P I el 2)

(1) 0.6A0 + 2P (2) I
(3) —2.4A0 + 2P (4) 1.2M0+ P
freafafaa & @ gatfies e Aifier
NH,
(1 (2) <N>
H

NH,
A
) (4) | yz
N

Ife Afyfemam, X — Y &1 97 fadies 719 2.5 x 104 mol
L-1 51 & a2 X hl IRfeweh Ersd1 3 M 2, df 100 fime
e Y I wrEar gt

(1) 0.5M
(3) 1.5M

2) 1.0M
4) 2.0M
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97. pH of 0.2 M solution of sodium acetate will be (pKa
of acetic acid = 4.76)

(1) 5.0 (2) 6.5
(3) 8.5 (4) 9.0
98. 400 mL of 0.5 M HCI solution undergoes

neutralisation reaction with 600 mL of 0.2 M NaOH
solution. The heat released during neutralisation

97. Tifead THIE % 0.2 M T &1 pH =i (weifee st

T pKa = 4.76)
(1) 5.0 () 6.5
(3) 85 (4) 9.0

98. 400 mL, 0.5 M HCI fae= 600 mL, 0.2 M NaOH
foerm & @y SeEieor st quriar R

process is Wﬁwm%%gﬁm%
(1) 6.85kJ (2) 571k (1) 6.85 kJ (2) 57.1kJ
(3) 11.42kJ (4) 20.5kJ (3) 11.42kJ (4) 20.5kJ
99. Unit of rate constant for a second order reactionis | g9, fgdtr=pife stfafsran 3 forw am fFerdier w1 amw
(1) mol? L= s (2) s~ (1) mol? L2 s-1 (2) s
(3) mol-'Ls™ (4) mol L= s (3) mol' L s~ (4) mol L1 s
100. Which among the following is not formed on the | 100. Hhe BRI hl AT FAISS o6 @1 ik ot
reaction of white phosphorus with thionyl chloride? fefafiaa o & Hfaar At yrg 78 gar 22
(1) PCls (2) POCs (1) PCls (2) POCIs
(3) SO (4) Sl (3) SO (4) SCl2
[BOTANY]
SECTION-A Ge-A
101. rI?et:):u.jdt.hetfolIowing §tate;nent§ w.r.t Mendelll’s Cross- | 104, ffee gT HeT * b SeTRAT T ST R T
ybridisation experiments using pure pea lines — S 3 gt F R RS
(@) A pure line undergoes continuous self- . =
pollination, shows stable trait inheritance and (a) Th = R & T €, St
expression for several generations. % ifeat % T FereTeer shammTfer 3 sHfirsafer
(b) Mendel considered seven characters for his ‘” el ) )
experiments_ (b) ﬁ@ﬁ%mm%%@mﬁﬂ“ﬁqwmml
(c) Mendel selected 7 true-breeding plants for his (c) Heet T 3o AT o o7 7 - Sroreft et b =rer
experiments. IERIRI
Choose the correct statement(s). TE FHUA/FHUAT BT = I
(1) Only (@)and (b)  (2) Only (b)and (c) (1) ae (@) 3 (b)  (2) A (b) 3N (c)
(3) Only (c)and (a)  (4) Only (c) (3) ¥ (c) 3 (a)  (4) Ha (o)
102. Pairing of homologous chromosomes occurs in | 102. RITTeRT forvTStH shT Toh® et H TSI ORI T
which stage of cell division? BIATR?
(1) Leptotene (2) Zygotene (1) ddue (2) gHIE
(3) Pachytene (4) Diplotene (3) ¥IUE (4) fsug
103. Choose the correct option w.r.t location of root hairs. | 103. wﬁﬁ%w%ﬁaﬁﬁvﬁﬁaﬁrww%@
(1) Root cap (1) FaA T
(2) Zone of maturation (2) ufCaerar o &
(3) Zone of elongation (3) YeffeRTor =T &
(4) Zone of meristematic activity (4) Torsaradht fsrafater o1 &
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104. Heterostyly is an outbreeding device adopted by
some plants. It is a type of

(1) Pollination method called cleistogamy

(2) Morphological method to self-

pollination

prevent

(3) Physiological self incompatibility
(4) Self pollination method

105. Which of the following statements is true for one

turn of Krebs cycle?
(1) One molecule of FADH: is synthesized
(2) Three molecules of NADH + H* are oxidised to

NAD*

(3) Three molecules of FADH: are oxidised to
FAD*

(4) Only one molecule of NAD* is reduced to NADH
+ H*

106. DNA-dependent DNA polymerase

(1) Catalyses polymerisation only in 5 — 3
direction

(2) Has polymerization rate of 50
nucleotides/second

(3) Has polymerization rate of 20,000 bp per
second

(4) Transcribes the DNA for mRNA synthesis

104. Ferwarfciera, % TTaHT §RT STITS T T Sife: ok Jfth
21 e T TEL

(1) wmor farfer @ ot St iear-owmTor et e &

(2) ARttt farfer 2 o war-umTor =6t Tept SITaT R
(3) YRR-forarTere w-3TeTTdar @

(4) - fafr ®

Frferiad & & 99T e U a1 hed 5k B o ey
T T 272

(1) FADH2 1 T 370 €23 iar &

(2) NADH + H* & i 3707 NAD. H 3fterefiepa it &
(3) FADH, % i 31 FAD* & 3iforefiepa &t &

(4) NAD* %l %3 T 310 NADH + H* ¥ s1q=ifird gt
DNA 3Tf3rd DNA diefimist

(1) a5 — 3 TauT & SEeTehIRT h I a1 &
(2) T TETHIFT R 50 fFTATTEH/AHE Befl &
(3) I STESTHIFIT R 20,000 bp W Fohe Breft

(4) MRNA 3907  feTT DNA T 3Tere T
TE-fRaTeTl & TR AR THF W & oM #

105.

106.

107.

107. Match the following columns w.r.t. type of famtafaa et =1 faem Shifsg
interactions and their examples. - — e —
Columnl Columnlli a T i) | wore
a. | Mycorrhiza (i) | Predation b. TSI 8T (i) | e
b. | Eagle-Rat (i) | Amensalism qStiferaT
c. | Penicillium — Bacteria | (jii) | Parasitism c. Yffaferm — Sfamy | (iii) | oesfifer
d. | Lice — human (iv) | Mutualism d. S - AT (iv) | SRraeRTRar
Select the correct option from the following: frefafea & o adt fashe 1 == fife;
(1) a(i), b(ii), c(iii), d(iv) (2) a(iv), b(i), c(ii), d(iii) (1) a(i), b(ii), c(iii), d(iv) (2) a(iv), b(i), c(ii), d(iii)
(3) a(iv), biii), c(ii), d() (4) a(ii), b(iv), c(i), d(ii) (3) alv), bii), c(ii), di) ~ (4) a(ii), bv), (i), d(ii)
108. Select the correct statement. 108. T o 1 o i

(1) Uracil is present in RNA at the place of guanine

(2) In the backbone of DNA, nitrogenous bases
project outside

(3) DNA is always coiled in left-handed fashion
(4) Two chains of DNA have anti parallel polarity

(1) RNA H w1+ % T v et Suféerd gar &

(2) DNA % IR H TT2IfSHE TR sTel Y 3T’ Jfera
AT

(3) DNA H3 aTTad &9 § FUsferd arm &

(4) DNA T 31 saretrait 1 Sfer TT=i gyt el &
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109.

110.

111.

112.

113.

Read the following statements.

based on
various

(@) The system of classification
evolutionary relationships among
organisms was proposed by Linnaeus.

(b) Eudorina shows anisogamy.

(c) Laminarin is the chief storage food in
Phaeophyceae members.

(d) Haplontic life cycle is prevalent in mosses.

How many of the above statement(s) is/are

correct?

(1) 4 2) 3

3) 2 (4) 1
Choose the correctly matched pair:

(1) Photorespiration — Wasteful process as it
utilises ATP and NADPH:

(2) Ruben and Kamen — Proved that O2 liberated
during photosynthesis comes from CO2

(3) Tadpole like structure — Chlorophyll
(4) Kranz anatomy — Potato

When the centromere is present very close to one
end of the chromosome, the chromosome is

referred to as
(1) Metacentric (2) Sub-metacentric
(3) Acrocentric (4) Telocentric

The transverse section of a plant part shows
following anatomical features:

(a) Central pith.
(b) Conjoint and open vascular bundles.

(c) Medullary rays present in between the vascular
bundles.

(d) Hypodermis is collenchymatous.

Identify the category of plant and its part

(1) Monocotyledonous stem

(2) Dicotyledonous stem

(3) Monocotyledonous root

(4) Dicotyledonous root

The function of NAD™ in cellular respiration is

(1) To act as an electron carrier

(2) To act as an enzyme

(3) To act as an electron acceptor in ETS

(4)

4) To produce ATP by providing electrons

109. fr=ferfaa et 1 afey

(a) Tofir Sfat & fier foermadl d@ee @ emenfia
Fffertor wgfar ftfree grr searfera i € off)

(b) FESRTEAT STEWIH Tl 2

(c) TrwEe & wewl &1 wer e @ uerd
AT 21

(d) ST SfieH-<5h TEd: HiE H UTT ST

IHIh 8 fohe sher agt 2787

(1) 4 ) 3

Q) 2 (4) 1

FafeTa I 1 =—H HIT;

(1) SFT-ge — faefer gfshan & i s@d ATP 3t
NADPH, T 3T 8iaT &

(2) & 3R FWT — 7 fag fora foh yepmer-dagmor &
R T B Attt Oz, CO2 | 3Tt &

(3) TS ST TTEAT — FANTheA

(4) ShT RIHR — 3T

el UREATelg, U o Ueh T o wrgd Fehe Suferd 2rar

&, T UG 1 el ST &

(1) TETh= (2) 3U-HEHH

(3) smfergsh (4) icTehest

T UIeY AT o1 ATIE e Feferfad smifer aweror

IS

110.

111.

112.

uTey <l Huft 37 36k AT T T hifeTg
OREEELEIREN [ RECISEEIKEN
(3) TSI et (4) fesfisresft 7
HITITHIT a1 F NAD* o1 i BT &

(1) Toh S e o &9 H i T

(2) ek USITSH o ®9 § 13 hAT

(3) ETS H Ush SiF T o ® | 1 HEAT
(4) SAFLH TG hleh ATP ohT IcdTa ShiAT

113.
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114. Valine is coded by more than one codons hence the
code is
(1) Unambiguous
(2) Universal
(3) Non-overlapping
(4) Degenerate
115. The main sources of biofertilizers are
(1) Bacteria, fungi and archaebacteria
(2) Archaebacteria and mosses
(3) Bacteria, fungi and cyanobacteria
(4) Eubacteria, protozoans

116. Choose the correct order of various stages in

hydrarch succession.

(1) Forest —» Zooplanktons — Phytoplanktons —
rooted floating plants — rooted-submerged
plants

(2) Phytoplanktons — submerged plants —
submerged free-floating plants — reed-swamp
— marsh-meadow — scrubs — forest

(3) Marsh-meadow — reed-swamp — trees —
phytoplanktons — rooted floating plants —
rooted — submerged plants

(4) Floating plants — rooted-submerged plants —
trees — forest —» Zooplankton — phytoplankton

117. ZW-ZZ type of sex determination is seen in

(1) Grasshopper (2) Honey Bee

(3) Birds (4) Drosophila

Match the following columns and select the correct
option:

118.

Column|l Column i
RER (i)

SER (ii)

Glycosylation

oo

Protein synthesis

Golgi complex (iii) | Spindle formation

oo

)
Centriole (iv)
(1) a(ii), b(i), c(iv), d(iii) (2) a(ii), b(iv), c(i), d(iii)
(3) aiii), b(ii), c(i), d(iv) (4) a(i), b(ii), c(iv), d(iii)
Mortality refers to

1) Birth rate

2)

3) Number of individuals leaving a habitat
4)

Lipid synthesis

[N

119.

(
(2) Death rate
(
(

Number of individuals entering a habitat

114. IAH, T B e RISH G hifed Bd &, 3Td: HIS 21T &
(1) ey
(2) TR
(3) A-3Afaaadt
(4) STa¥E
115. S9-3aThT o & &I &
(1) SHTETYT, e QT STHIF T
(2) SATehTsFRITT qon 6|
(3) SHaTY], e QT ISR T
(4) FoEfET, TS
116. ST STTHAT o AT~ =0T o | HH BT o=
EAIS LY
(1) T — WNTATF — TETATH — A AT A
q1EY —» q ot o wreq
(2) UTEUTAST — T 1T — T Heh-TetTell ored —
TEHA ST — FHTS Mg — F —> I
(3) =D MG — TEHA T — & — TRUATSF —
TS AT AT 918 —> e aTet e wreq
(4)‘%‘@?@—)3@31@%%—)@&?—)3?—)
TTiTCAdh — UTRUTAdh
117. ZW-ZZ SR o foim ferfeor ferad amam stmar 22
(1) feser (2) wyraREt
(3) uedt (4) SIgiftar
118. ffafaa siemt 1 e Fifse 3wt fased
WW:

HieH | Eaced|
a. | RER (i) | TSR
b. | SER (ii) | S T
c. | et |t (iii) | e femtor
d. | dmerehs (iv) | feafrs gsgwor

(1) a(ii), b(i), c(iv), d(iii) (2) a(ii), b(iv), c(i), d(iii)
(3) a(iii), b(ii), c(i), d(iv) (4) a(i), b(ii), c(iv), d(iii)
119. HISfAeT Hefifd shidl @

(1) -

(2) TI-TH

(3) Toreft STEReT Rl Bie JTell AT i T
(4) Toret aTerET T YT R aTelt St shi e s
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120. The layer of an anther which is not protective in
function is
(1) Tapetum (2) Middle layers
(3) Epidermis (4) Endothecium
121. The feature not related to heartwood is
(1) Lignified cell wall
(2) Hard and durable
(3) Resistant to insects
(4) Conduction of water and mineral

122. Select the mismatched pair w.r.t classes of

pteridophyte.

(1) Psilotum - Psilopsida

(2) Selaginella - Sphenopsida
(3) Lycopodium - Lycopsida
(4) Adiantum - Pteropsida

123. The phytohormone which was first isolated from

human urine is

(1) Gibberellic acid (2) Cytokinin

(3) Auxin (4) Ethylene

On Earth, which of the following regions have the
greatest biodiversity?

(1) Western Ghats of India

(2) Polar regions

124.

(3) Tropical Amazonian rain forests
(4) Indo-Burma Himalayas

125. Which of the following statements is/are correct

about prions?
a) Cause mad cow disease in cattle
) Size is similar to viruses
) Made up of RNA only
) Causes Cr-Jacob disease in humans
) All (a), (b), (c) and (d)
) (a), (b) and (d) only
) (c)only
) (b), (c) and (d) only
Which of the following is a filamentous algae?
(1) Ulothrix
(3) Volvox
In dicot leaves, guard cells are
(1) Dumb-bell shaped (2) Kidney shaped
(3) Rectangular (4) Barrel shaped

126.
(2) Chlamydomonas
(4) Porphyra

127.

120. TRITERIRT 6T HIEf O GReTereh Sl A8t shL 87

(1) dew (2) HET 9L
OEIEEE (4) JFaeehfiry

121. Treafeftaa & & ST cTeqor 3118 | Haifer T2 27
(1) TAf 7k shiRreT ffa
(2) F3R qe et
(3) et o ufer gfcret

(4) ST qUT @At 6T T

SISIHIEE 6 Tl o Haw H STRTeTa | o1 < Al
(1) GrzeTey - faanfeaeT

(2) foformar - fawnftaer

(3) AEHITISTH - ATZRIHET

(4) ufeuen - ftaer

122.

123, T8 TE A I & Fe fohaT ST STt a1ed &THie &
(1) fresiferss et (2) TSRS
(3) ATl (4) wefiferm

124, qet W, FrAfcTRad & & ford &1 5 Terd 317k Stafaforer
22

(1) YR o qfeet =

(2) vl &

(3) SWThiesE ST o9t o=

(4) 3Sr-ami fewTery

frfeiad o & ayn o fei s o d ad 3/8?
a) Sk HIT HATYRT H 7S 1S U7 Brem &

b) $hT TR SRITE o THT 2IdT &

c) AFIARNA T SH BId &

(
(
(
(d) 379 HROT AT & Cr-SYhat T BT &
(
(
(

125.

1) (a), (b), (c) 3 (d) &t
2) %3 (a), (b) 3 (d)
3) %ad (c)
(4) %I (b), (c) 3R (d)
126. frfaaa # & ier ue dqwet e 22

(1) IArT (2) FAATZSHHTE
(3) Frcdrd (4) IR

127. Tesfierost auif #, g iR et &
(1) SR (2) ok T SATHTA AT
(3) IAIATHR (4) ST hT TR T
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128.

129.

130.

131.

132.

133.

Acetic acid is commercially obtained from
(1) Penicillium
(3) Lactobacillus

In DNA fingerprinting, differences in some specific
regions in DNA sequence are identified using a
specific type of probes, which are

(1) VNTRs

(2) Repetitive RNA

(3) Non-polymorphic DNA
(4)

(2) Asperqillus niger
(4) Acetobacter aceti

4

In most ecosystems, the pyramids of number,
energy and biomass are upright, except

Single nucleotides

(1) Pyramid of number in grassland
(2) Pyramid of biomass in grassland
(3) Pyramid of number in sea
(4) Pyramid of biomass in sea

Which of the following statement(s) is/are correct
for cork cambium?

(a) ltis also called phellogen
(b) ltis also called extra-stelar cambium

(c) Differentiation of cork cambium cells form cork
on the inner side of itself

(d)
(1) (a
(2) All
@) (a
(4)

The function of cork is nutritive
), (b) and (c) only

(a), (b), (c) and (d)

3 ) and (b) only

4) (b), (c) and (d) only

In the S-phase of interphase, A and B are

duplicated.

A and B, respectively, are

(1) Centrioles in nucleus and DNA in cytoplasm

(2) DNA and proteins both in cytoplasm

(3) DNA in nucleus and centrioles in cytoplasm

(4) Proteins in nucleus and centrioles in cytoplasm

In Antirrhinum, a red flower was crossed with a

white flower and in F1 generation, pink flowers were

obtained. When pink flowers were selfed, the F2

generation showed red, white and pink flowers.

Choose the correct statement from the following:

(1) This experiment follows the principle of
dominance.

(2) Phenotypic ratio of F2is 1 : 2
White)

(3) Pink colour in F1 is due to co-dominance

(4) Law of segregation is not appliable in this
experiment.

: 1 (Red : Pink :

128.

120.

130.

131.

132.

133.

wHifeeh 3Tret ST 9§ forerd e faha ST 82

(1) ffaferm (2) TEISITd ATE

(3) AFIEfGTT (4) THIEER THiers

DNA fmfSifén #, DNA 3135+ % % fafire &t & s

Y TE=T Ueh TofRTE WehT o WieT o SUART §I0 shl ST €,

SE

(1) VNTRs

(2) TRIIT RNA

(3) TR-=igEdt DNA

(4) T feeESE

& fuafire #her aa &2

(1) =T o Ee 1 s

(2) =TV T SEYR T e

(3) &Hz ¥ He 1 fwfis

(4) EHE H AR T e

frefafiaa & & am/@ e % e & fau adt 2727

(a) 38 HTS Wi el ST R

(b) 38 T7-oITey werT oft et ST ]

() T THT <l TR & favieT & 37k ofiedl w1 ™
0T o FoAT0T BlaT ®

(d) I qISOT-Eeieft s st ©

(1) 4 (a), (b) 3K (c)

(2) (a), (b), (c) 3 (d) &+t

(

(

3) had (a) 3 (b)

4) %9 (b), (c) 3 (d)

ST T S-ITerET #, A 37K B T farur g 21

A 3T B AT §:

(1) s H ehehg 3T RIfTHTEeT § DNA

(2) HITHTEST 7 DNA 3R I8 ST

(3) s H DNA 3R FIf3TehTssT § aRehehs

(4) e B NI IR HIfRThTEeT § aRehehs

GeRTgTH ©, Tk AT T8 T T T Ad T o §r
AT T SR Fy ST, ToArel T I 8Q) ST et
o} T - AT T, AlF WE H AT, A q
TSt 959 9TH U
frefafaa & @ adt e &1 === Aifs

(1) 39 SR 8 qerferat % g bt O 2T @

(2) Fo 1 OIS STTAT 1 £ 2 : 1 (STt « Tmeit : &) &
(3) F1 TSt {7 og-SwTTeraT o 0T &

(4) 38 R § foem ot e A e drar ®
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134. frmfafiad ot 1 ufey ST deger A 71 B & fofg

134. Read the following statements and choose the

135.

136.

137.

138.

suitable option for A and B accordingly.

(@) A and B were not included in 5 kingdom
classification given by Whittaker.

(b) B are both living and non-living in nature.
(c) A are the indicators of pollution.

(d) A show a mutualistic relationship.

The correct option for A and B respectively is
(1) Viruses and Bacteria

(2) Viruses and Lichens

(3) Lichens and Viruses

(4) Lichens and Bacteria

Which of the
Mycoplasma?

following is incorrect for

(1) Cell wall is composed of peptidoglycan

(2) They are smallest living cell

(3) Lacks double membrane organelles

(4) They can survive without oxygen
SECTION-B

The contrasting characters present in a pair, used
in a taxonomical aid, is referred to as

(1) Key (2) Lead
(3) Couplet (4) Manual

Match the components of column | with those of
column Il w.r.t. photosynthesis and choose the
correct option.

Column | Column i

a. | Hatch and Slack | (i) Calvin cycle
pathway

b. | RuBP (i) | Caplants

c. | Cyclic (iii) | Photosystem |
photophosphorylation

(1) a(i), bii), c(iii) (2) a(ii), b(i), c(iii)
(3) aiii), b(i), c(ii) (4) a(ii), b(iii), c(i)
Female gametophyte of angiosperms

(1) Has three polar nuclei at the centre

(2) Has three antipodal cells at chalazal end
(3) Consists of two celled egg apparatus

(4) Is 8 celled and 7 nucleate structure

135.

136.

137.

138.

3T ferehied T = shifsT)
(a) feeea 3 few MU 5 S afieor § A SR B
aftwfera 72 o
(b) B Tiig 37 fsfia T wahfa 3 & 2
(c) A SIgHIT o Hehh &
(d) A Ueh TRIIRTIT ol Hair Su1iaT 2
A 3T B o fore @t forehie shmem:
(1) SRS 3 SaTy
(2) SRRE I ATgHA
(3) TATEHT 3T IRITH
(4) TTEHA HITSfrETI
A5k IceArsHT % forw feferfiaa o & s/ et 22
(1) gkt iRt il AeSietssT & st St 2
(2) 3 T= @ B Sfifad FfvEw &
(3) T Tefereciierg hITRTeRiTl ot ST¥Te EaT &
(4) 7 Sterfom & form sfiferd @ gkl €
w©e-B
T STy ST |ree H IWITT fohg ST et W |
Sufterd fooatet <Tefort st et <Irar @
(1) e (2) e
(3) Ffea (4) Bgeret
TRIT-HoIHT o Fedl H HieAd | & HIHh HT AN
ST || 3 FIZehT & SHITSTT S ALY forshe b1 =2 hifsu)

HieH | Eaced]
a. | ¥ Ud Wi (i) | fcat=sn
b. | RuBP (i) | CqvrEm
c. |=Ehl (iii) | P |
JeRTIT-IEh e eRToT

(1) a(i), b(ii), c(iii) (2) a(ii), b(i), ciii)
(3) a(iii), b(i), c(ii) (@) a(ii), bii), c(i)
SIS 1/ HIRT FHR5E

(1) FFEH A g Feh a8

(2) = TR R ot i wfeeardia sifStenmd et @
(3) 3 TSI I BT &

(4) 8 HITIhIT qT 7 Frsf TEAT
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139. Which one of the following statements is correct for
plants pollinated by water?

(1) Most of the flowering plants show pollination by
water

(2) All aquatic plants use water for pollination

(3) Water pollinated flowers are colourful and
produce nectar

(4) The pollen grains of water-pollinated plants are
protected by a mucilaginous covering

140. The World Summit on Sustainable Development
held in 2002 at Johannesburg, South Africa, aimed
at
(1) Reducing emission of greenhouse gases
(2) Protecting the stratosphere
(3) Taking appropriate measures for conservation
of biodiversity and sustainable utilization of its
benefits

(4) Significantly reducing the current rate of
biodiversity loss at global, regional and local
levels.

141. Match List-I with List-II

List-l List-ll

a. Histone protein (i) Interphase
synthesis

b. Longest phase of cell (i) S-phase
cycle

c. Longest stage of (iii) Diakinesis
meiosis |

d. Terminalisation of (iv) Prophase |
chiasmata

Choose the correct option:

(1) a(iv), bfiii), c(i), d(ii)

(2) a(ii), b(i), c(iv), d(iii)

(3) a(i), b(ii), c(iii), d(iv)

(4) a(ii), b(iv), c(i), d(iii)

142. In a cross between a colourblind female and normal

male, what per cent of the progeny will be
colourblind female?

(1) 50%
(3) Zero

(2) 100%
(4) 25%

139, Treferfad & & shivwT oM, STeT 5T i g aret ret
o fog w22
(1) fereRisT qodft qTaw, STet TT T G &
(2) Gt STt aTey, TRTOT o foTu STet T SU=NT hid &
(3) SO T TT-fordit B & ST 7ol 3ea1 i &

(4) STCT-TTATT TG oh CRTTeRvT <h TeT Toh Sk ST
ERUEI I

140. 2002 T STrgT=ent, gfaror 3TshYeht ¥ RN wda s
R forg RTer T o1 Sew ot

(1) WS NET % Icasi i FHH H]
(2) THAIHSH ohl T&T HEAT

(3) SaffrerdT o TREAT 7T gk AT o TAd ST F
fore 3tera surer s

(4) ek, e T TuiT T W Safafaear af

AT L ol ST TRIh hH LT

141, G- 1 Foretr =-11 | iy

el kSl
a. AWM ®mEsIwor (i)  Siqueser
b. IR =k hl T &l (i)  S-WTewRT
TarE
c.  Irdephl-fovre | e (i) o
el STaET
d.  SHTTSHET o IUTdTHET (iv) atererT |
T fashe 1 =57 hifSe:

(1) a(iv), biii), c(i, d(ii)
(2) a(ii), b(i), c(iv), d(iii)
(3) a(i), bii), ciii), d(iv)
(4) a(ii), b(iv), c(i), d(iii)
142. U Uity AT 3 AT T69 o site deheor 3, fopadt
sifcrera wafer sorter wfea gifre
(1) 50%
(3) I

(2) 100%
(4) 25%

Corporate Office : Aakash Tower, 8, Pusa Road, New Delhi-110005. Phone : 011-47623456



Mock Test for NEET-2024

143. FAfcTRad oAl § € Torew e &1 = i)

143.Pick the odd one from the following statements.

144.

145.

146.

147.

148.

(1) The terminal electron acceptor of ETS is
oxygen

(2) The electrons are transported in the ETS by the
electron carrier proteins

(3) The protons move from mitochondrial matrix to
the cytoplasm during the movement of
electrons in the ETS.

(4) Complex V of the ETS is involved in ATP
synthesis

“COz2 is a major limiting factor in photosynthesis”.

Select the incorrect statement from the options

given below.

(1) More than 0.05% of CO2 can be damaging over
long periods.

(2) At low light conditons and high CO:2
concentration, Cs plants show increased rate of
photosynthesis

(3) At low light intensity and high CO:2
concentration, C4 plants don’t show increased
rate of photosynthesis.

(4) At high light intensity, Cs plants show increased
rate of photosynthesis.

Leaf tendrils are present in

(1) Cactus
(2)

(3)
(4)

In which genetic condition, each cell in the affected
person has 44 + XO condition?

Pisum sativum
Members of Cucurbitaceae
Bryophyllum

(1) Down’s syndrome

(2) Klinefelter's syndrome
(3) Turner's syndrome
(4) Edwards syndrome

Statins, used as blood-cholesterol lowering agents,
are produced by

(1) Fungus Trichoderma polysporum
(2) Bacterium Streptococcus

(3) Fungus Monascus purpureus

(4) Bacterium Clostridium

What is the role of RNA polymerase Il in the
process of transcription in eukaryotes?

(1) Transcribes 28S, 18S and 5.8S rRNAs
(2) Transcribes hnRNA

(3) Transcribes tRNA

(4) Transcribes shnRNA

144.

145.

146.

147.

148.

(1) ETS 1 3ifom seierg i uTet Siterefis @

(2) ETS H Soiagl o UiaeT Soide aresh T grT
T

(3) ETS | Soierg1 ol TTer o SR WISH, HISIhit-gaT
Y AT F FIfITeRTEeT o i A &

(4) ATP GsIuur i ETS o1 hivacied V Gftaferd ardr 8

“CO2 YohTT-H=JNUT 2T TS T HHTHRT ek &' F=r

few T forsheat & @ e e w1 = il

(1) 0.05% @ 31fersh CO, el TH e o ToIQ afcishieh
B "ol 2

(2) 0 g Fi Rfy R S=@ CO, HigdT W,
Cs TEY SEhTT-E24N0T T S H g 301 &

(3) FH THWT dlgdr AR I=H CO, Hisgdl W,
C. UTEYT JehTRT-E=39T i 3T § gfg 7 gt 2

(4) =T YT el W, Ca UTET TehTT-H0T Y 3T F
gfg qwiia &

fopertt wof s Sufderd ia €2

(1) Faed

(2) wTEHH HeTgaH

(3) THXCIH o Hae

(4) FEIfGaH

fore STTaRTen Tt , SrTfor =tk i STeieh hiRTet §

44 + X0 feufa ardt 27

(1) = figm

(2) FATETRe fHgm

(3) TR fegm

(4) veas figm

TTh-hITESS ohl S T aTel T o &Y T ITANT fohu

ST arer L foraen g Scunfa fep sima €72

(1) ZTsHISHT GTATRE Fdh

(2) ElFFE Samy

(3) HHEFH WIRIH Falsh

(4) FAEgead Sfam]

FHTACH H ST shl STshAT H RNA WTefH |1 3

IR Bt 87

(1) ¥ 28S, 18S 3N 5.8S rRNAs T SFIcIEH Fdl &

(2) T8 hnRNA 3T ST T &

(3) TT tRNA T STIeTEH FaT &

(4) T8 SNRNA T 3TIcIE T &
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149. Identify the correct statement with regard to G2
phase of the interphase.

(1) It is the interval between mitosis and initiation
of DNA replication

(2) Tubulin protein synthesis occurs in it
(3) Chromosome duplicates in this phase
(4) Most of the organelles duplicate in this phase

150. Match the items in column | with those of column Il

and choose the correct option

Column|l Columnll

a. | Gibberellins (iy | Present in root and

shoot apex

Overcome
dominance

b. | Auxins (ii) apical

c. | Abscissic acid Seed germination

d. | Cytokinin Induces dormancy

(1) a(iii), b(iv), c(i), d(ii)
(3) a(iii), b(i), c(iv), d(ii)

() al(ii), blii), (i), d(iv)
(@) a(ii), b(i), c(iii), d(iv)

149, AT 6T G, IELAT & He T Wl FHy i ggam
ity
(1) 78 GuEpl-fasTsi 3t DNA Siiedta o JTd o

T o1 ST ]

(2) 3EH G T BT HoIHT BT &
(3) 39 ST H TURET ok fEIO Bt
(4) T8 TereT H STIRTST TR a1 foror ST 8

150. SHITH | 3 Y&T T THATT hietd || % Ual & Hiferg 3 e
[EETREIEREETISIY

i | Eacul

a. | forssitfer () |7 d e A A
SufEerd gl &

b. | Affe (if) | wfiefeer gaarererr sh g
FAT D

c. | ufoufess 3w | (jii) | ST T SiFH@ Far
g

d. |EmereEfE | (v) | sEfi R S s ®

(1) a(iii), b(iv), c(i), d(ii) (2) a(ii), biii), c(i), d(iv)
(3) a(iii), b(i), c(iv), d(ii) (4) a(ii), b(i), c(iii), d(iv)

[ZOOLOGY]

SECTION-A

Select the cell junction that facilitates
communication between adjacent cells for rapid
transfer of ions and molecules.

151.

(1) Tight junction

(2) Gap junction

(3) Adhering junction

(4) Macula adherens
152. Select the incorrect statement.

(1) hCG, hPL and relaxin are produced in women
only during pregnancy.

(2) During pregnancy, relaxin is produced by ovary.

(3) Placenta also acts as an endocrine tissue and

produces several hormones including estrogen
and progesterone.

(4) Trophoblast contains stem cells which have the
potency to give rise to all the tissues and
organs.

©s-A
151. 39 IfTeT T T == AT S AT 371 7ot &
fel TAMIar & fu g ifdemset & e gen
UEEEIGIR
(1) FeHf
(2) Siaue gfer
(3) eS|
(4) HpeT Ugetd
152. A I T T hifeTy)
(1) hae TTEET 3 SR & TieTstl # hCG, hPL 3R
o sefed ga @
(2) e 3 gRH, Ffrem Siem™ @ Scu= et ®
(3) AU Ueh :HTT Fncieh o &9 T off ol htar & 3
TS TSR Tfed 3 SHT-d ScaTfed hiam &
(4) UTYERITE H €H RIRTERIE BI & T |t et 37K
3T AT ST~ KT Y T Bl @
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153.

154.

155.

156.

157.

158.

The condition diuresis can be defined as
(1) Increase in protein excretion

(2) Increase in urine volume

(3) Decrease in urine volume

(4) Increased H* and K* secretion

Select a fatty acid from the following.

(1) Acetic acid (2) Palmitic acid
(3) Glutamic acid (4) Aspartic acid

Bursting of RBCs to release toxin called haemozoin
which causes high fever with chills are symptoms

of

(1) Amoebiasis (2) Malaria
(3) Filariasis (4) Ringworms

How many features given below are not related to
female frog?

(a) Reproductive organs include a pair of ovaries.

(b) Absence of copulatory pad on the first digit of
the fore limbs.

(c) Presence of sound producing vocal sacs.

(d) The ovaries are situated near kidneys and there
is functional connection with kidneys.

(e) Mature female can lay 2500-3000 ova at a time
Select the correct option.

(1) Three (2) Two

(3) One (4) Four

The first clinical gene therapy was given in 1990 to
a 4-year old girl with Ldeficiency. In some

children, this deficiency can be curedby B .

Select the correct option to fill in the blanks
respectively.

(1) ADA and cry gene

(2)
3)
(4)

A chronic disorder characterised by damage to
alveolar walls and decrease in respiratory
surface is

(1) Asthma
2

(2)
)
(4)

ADA and bone marrow transplantation
Insulin and enzyme replacement therapy

Insulin and c—interferons

Emphysema
Addison’s disease

4) Muscular dystrophy

153.

154.

155.

156.

157.

158.

AT o o T H GRCATIS fohar ST HehaT 22

(1) WM s ° Ffg

(2) T T H

(3) ¥ 6T WA | T

(4) H* 3K+ &1 H Jhg

FraferRad & & ush o9 317 o1 = il

(1) THifes 3eea (2) unfifess 3t

(3) TLHE 3T+ (4) TS 3TFA

RBCs & Wed ¥ €IS AHeh e Hiferd 2iar @

e o fogtr & aryr 3= Sav & 5 8, ¥ fras

0T 22

(1) erfiforafim (2) Tt

(3) Wi (4) T

it 3t 1S foraT formaTd #1aT Hew o Heifia 12 82

(a) S 3T H U S S |itaferd Bid 8

(b) STTET AT Bt SRt T LT SFTAferd B1d 2

(c) AT 3= FT el 9Tk 1Y SUfRerd B &)

(d) TSR gt % ke fud B9 € o g9ent & a1y
RECANEDIERER R R

(e) iTE HTaT U S # 2500-3000 ST < Hehell &

T forered &1 == Fifsg)

(1) (2) &

(3) @ (4) =R

et HaTien Sfi fafeheam 1990 & A sh el areft Tk

4 ot ergeht o1 <t 718 off| F& sreeli A g@ AT AT B

ST ST f3ha ST HehT B

U ek ST b1 1 o forq |t forshea oh =i shifor)

(1) ADA 3R cry Sf9

(2) ADA 3T 31t TeeTT Jeriaor

(3) FQfcT 3 USTgm whcreermas ferferca

(4) TR 3R oS

FiuhE it # afd K a6 gag & A 9

AT F T T SEhITeTeh oI R &

(1) =mT

(2) araehifa

(3) vartesht

(4) Uefia gedror
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159.

160.

161.

162.

163.

164.

Choose the odd one w.r.t. axial skeleton.

(1) Atlas and axis

(2) Tibia and fibula

(3) Ethmoid and sphenoid

(4) Sternum and ribs

Select the correct set containing only diploid cells.
(1) Primary spermatocyte and ootid

(2)
(3)
(4)

Spermatozoa and spermatogonia
Spermatogonia and primary oocytes

Spermatids and oogonia

Foetal ejection reflex triggers the release of L
from maternal pituitary.

Choose the option which fills the blank ‘X’ correctly.
(1) Vasopressin

(2) ACTH

(3) Oxytocin

(4) ADH

Excessive use of antibiotics resulted in natural
selection of antibiotic resistant varieties of bacteria
in @ much lesser time scale. This is an example of

(1)
(2)
(3)
(4) Saltation

Low pOz, high pCOz2, high H* and high temperature
are the conditions favourable for

Adaptive radiation
Founder’s effect

Anthropogenic action

(1) Association of Oz to haemoglobin to form
oxyhaemoglobin

(2) Dissociation of Oz from oxyhaemoglobin within
the lung’s alveoli

(3) Dissociation of Oz from oxyhaemoglobin in
body tissues

(4) Shifting of oxygen dissociation curve to the left
A hormone releasing IUD among the following is

(1
(2
(3
(4

Lippes loop
LNG-20
Diaphragms

)
)
)
) Multiload-375

159.

160.

161.

162.

163.

164.

37E T ShehTet o Hew 1 farew ue o1 == hifsiu)|

QR CSEERE:)

(2) feferem 3 fohegen

(3) UHiES IR ThiHIES

(4) Ik 3R = forat

EECREIE CEINCICIC GRS KR REAICREEAIS

(1) STrfHeR THTOThIRTERT STR ST

(2) AT ST RIS

(3) IBHIVSH 3R M i

(4) PRI ST SSSHHT

i Feaor Wided g fEw d X o Hred & i

T 2

39 Tasheq o1 =97 HIfvg S feh o Xt wEr @ o

AT 2

(1) J\AfE

(2) ACTH

(3) AR

(4) ADH

Sifcrotorehi o STcarfersh ST o TROITHEEFY S8d H aH

o Staroy 2t wfcrotfore Sfcrreft fore s smepfaen =z gem

TE Teh 3T &

(1) STt forfertor b1

(2) GEATIH TTT HT

(3) AHESIG fohaT T

(4) TTEIM T

1 p0O,, 359 pCO,, 359 H* 3R 3= AUHH foherh

o sreet witReurferat 82

(1) FrerrEmrefer & fmfor & fog Sarenfsr &
02 % HISH

(2) ST T FHiUHT % Wi ATFEHTATHE & 02 &
IERIEC)

(3) YR Skl H AT EHRAH & O, o foaem

(4) AT TS a5k o aRff ST TeriaTT

ffafaa & @ €Hi= 9 1UDs ®

(1) forera o

(2) LNG-20

(3) SETEM

(4) TEAAS-375
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165. Choose the incorrect statement with respect to
coagulation of blood.

(1) Platelets release certain factors which are
involved in the clotting of blood

(2) Certain factors, released by the tissue at the
site of injury can also initiate coagulation

(38) The excess in number of platelets above 3.5
lakh/mm?3 leads to clotting disorder which will
lead to excessive loss of blood from the body

(4) Fibrins are formed by the conversion of inactive
fibrinogen in the plasma by the enzyme
thrombin

166. Select the incorrect statement.

(1) Cnidoblasts are used for anchorage, defense
and for the capture of prey

(2) Ciliated comb plates help in locomotion in
ctenophores

(3) Metameric segmentation is the characteristic
feature of phylum Aschelminthes

(4) Choanocytes line the spongocoel and the
canals in sponges

167. In a DNA of 500 nucleotide base pairs in length,
cytosine is 40%. What will be the number of
adenines?

(1) 400 (2) 100
(3) 500 (4) 200
168. Observe the diagram given below and identify the

correct labellings (A to D) and choose the correct
option.

(1) B — Receptor
D — Synaptic vesicle
(2) A — Neurotransmitters
B — Post-synaptic membrane
(3) C — Receptor
D — Synaptic vesicle
(4) A — Synaptic vesicle
C — Receptor

165. T o Thed o ey | TeTd he ol =3 hifely|
(1) <HeeH F UH Tk e T & ST Th o Thad §
o 81 &
(2) =TE % T W Hdeh N AT F FR H e
T SRS L TRl &
(3) 3.5 AW@/mm? ¥ S wiceied &l T&AT ¥ gfg &
T Thed TIehr 2 SITaT 8 foTeeh ror IR & &
F Tcafer B eIt &
(4) wisfsm, Uomsm eiftem g0 e # fftew
GIESHIS o ST § sd &
166. T HIT T T ehiTeTy)
(1) <R feeren, &1 31 TR Ushed o Tere &
(2) el shehd ufgepd, B T THT W GEES
Bt &
(3) fordt wehvam, TEhafteelist @ 1 Afireretioes
TR
(4) Tt ¥ AR, R SR A A
AT et &
167. 500 =fHTATCIES & I TS & DNA H, AT 40%
{1 T Y e = e
(1) 400 (2) 100
(3) 500 (4) 200
168. == faU T ST T SATAIRA L TE THHT (A T D)
Yy AT T T forerea 1 == hifs

(1) B-7T&!
D — feftess gfeam
(2) A — dfert g=my
B — g -Riftess fareeht
(3) C -
D — feftesh gfeam
(4) A - ferftes et
C — Ut
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169.

170.

171.

172.

173.

174.

Assertion (A): Vasectomy can be considered as a
permanent method of contraception.

Reason (R): Surgical intervention blocks gamete
transport and thereby prevent contraception.

In the light of above statements, select the correct
option.

(1) Both (A) and (R) are true and (R) is the correct
explanation of (A)

(2) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(3) (A)is true but (R) is false

(4) Both (A) and (R) are false

Select the odd one w.r.t. radial symmetry in adult

organisms of given phyla.

(1) Echinodermata (2) Cnidaria

(4) Aschelminthes

Which of the following is incorrect w.r.t. Aves?

(3) Ctenophora

(1) Excretory organ is proboscis gland
(2) Presence of four-chambered heart
(3) Presence of feathers and beak

(4) Presence of long bones which are hollow with
air cavities

If a dsDNA is digested by a particular restriction
endonuclease, a little away from the centre of
palindromic sequence, what will happen?

(1) DNA fragments with flush ends will be produced

(2) Resultant DNA fragments may not have the
overhanging stretches

(3) The DNA fragments will facilitate the action of
DNA ligase

(4) The DNA fragments will not have sticky ends

In 1983, Eli Lilly, an American company prepared
two DNA sequences corresponding to A and B
chains of human insulin and introduced them in
plasmids of

(1) Salmonella typhi

(2) Thermus aquaticus
(3) Meloidogyne incognita
(4) Escherichia coli

Which of the following is not a method of diagnosis
of a disease?

(1) PCR
(3) Radiography

(2) ELISA
(4) Radiotherapy

169.

170.

171.

172.

173.

174.

HAT (A): TFHT T TR T w v s '

H HTT ST EehaT 2

FHNOT (R): IATBHAT 3h1 I@ETST 8 I TR Uh

fe=m ST @ wer: miferr T T R)

3T el ok daf H, wet forened 1 == AR

(1) (A) 3 (R) 3T H & 3T (R), (A) T T TSR0 &

(2) (A) 3R (R) aHT T & AfRT (R), (A) 1 T
TSR e ®

(3) (A) T g Wl (R) ST ©

(4) (A) 3 (R) ST SHT &

faw mmu gt o oo Sfa o ol wmfufe & wedd § famm

UE T TG iy

(1) THIEAIGHET (2) Arefan
(3) THIHRT (4) Teratiefs
TSt o ey | fAmferfiad § € o6 |7 Teta 22

(1) Sewsit 3, e ufr ?

(2) TR-Hef1 geT Jufrd T &

(3) TG R == T 77 &

(4) sl Srert Rl ST § ST ATy TeTe! Wied Wiaelt
T

fE T dsDNA T I Sfereifirer S1shm & g & ot

T U foriy fdsier dei=gfoeTest grr foam Sme dt s

A2

1) HuTe Rl a1t DNA T Scatfed 8it

2) ufturHt DNA TSt 8 eislt Shetre 72t firera &

3) DNA & @8, DNA T3Sl shi fofam shi g st

4) DNA & @ei 1 feafer i 7t feiny

1983 H Uett forett, weh Srfht shuet = A ggfer T A

3 B @Sl & STT&T 3l DNA 3T daR fhg 3T

3R Farswe o wfaw e

(1) Gremar gl

(2) yHg TFETeHg

(3) AAIFERTIET ST

(4) TURIH3A HIcTs

frefetfiaa & & -gft T 3 frem 6t v fafer 72 22

(1) PCR (2) ELISA

(3) Aemumh (4) et

(
(
(
(
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175. Read the following and choose the incorrect
statement.

(1) rDNA technology serves the purpose of early
diagnosis of diseases

(2) RTIs could lead to several complications like
PID, still birth, ectopic pregnancy, cancer, efc.

(3) Hepatitis — B and HIV can also be transmitted
by sharing of infected needles, surgical
instruments, infected blood transfusion, efc.

(4) Mature insulin has three polypeptide chains.

176. Which among the following belongs to class

Mammalia?

(1) Ascidia (2) Canis

(3) Chelone (4) Corvus
177. Select the odd one w.r.t. secondary metabolites.
(1) Concanavalin A (2) Tyrosine
(3) Vinblastin (4) Ricin
During fertilization, a sperm comes in contact with
the ‘X’ layer of the ovum and induces changes in
the membrane that Y’ the entry of additional
sperms.

178.

Select the correct option for X' and ‘Y’
respectively.

(1) Zona pellucida and block

(2)
3)
(4)

A person with which of the following blood group
can receive the blood from universal donor only?

(1) A 2) O

(3) AB 4) B
Select an autoimmune disorder
neuromuscular junctions.

Zona pellucida and promote
Corona radiata and promote
Corona radiata and block

179.

180. that affects

(1) Osteoporosis
(3) Gout

are located in the wall of hollow visceral
organs of the body.

(2) Myasthenia gravis
(4) Muscular dystrophy
181.

Select the correct option to fill in the blank.
(1) Skeletal muscles

(2)
(3)
(4)

Smooth muscles
Striated muscles
Cardiac muscles

175. Treafafiaa 1 ufew it et e &1 == i)

(1) rDNA Senfirht grr Tt et Sfsren T &t STt &

(2) RTIs % SRYT PID, TARTS] S, STETIh THTaeeTT,

(3) TURTEIH-B I HIV HshiHa e, TfSishet ST,
ot Tk ST AT T AT G 9 oft e Tohd &

(4) Tt $gieH § O dichierse Jaemd ardt &

frferfiaa & & 1 a1 Tae ot & Gefea 82

(1) Thrfean (2) B

(3) i (4) Pl

EGIREACSIRERE IR LR T Lt R AR DE QIS 1Y

(1) HHFATIAN A (2) TR

(3) forteemtie (4) &

TTSr=r o I U S[EI0] SHSTO] ol "X O o |k H STl

3 3R faecht & ufad™ 1 If@ wwar & < sifafes

NEQL IR EN R K

FHHT: X' 3T Y o fore weh fersheq &1 =1 i)

(1) ST YegRreT 3R 3Ta%s

(2) ST IefieT iR erdt

(3) HRIAT LWL SR Tl

(4) R Ifguer iR 3Ta%s

frfeTRad & & I8 Th T AT ST o ATl

1T & &Y Th TE0T L ThalT 272

(1) A (2) O

(3) AB (4) B

176.

177.

178.

179.

180. 3T Tufawar fashr =1 == hifse St dfermasfier wfert
EARIERETGIN!
(1) ARergfirar (2) mrsEAfaT afem
(3) TSE (4) Ut geIor
181, IRR % WiEel siqar 3 & frfa & feua gt 2)
T Torr 31 fef o foTq wrt fershe o1 == shiforg)
(1) shepTet U
(2) ot ufsmr
(3) MRaa ufyrt
(4) B Uit
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182. Select the odd one w.r.t. functions of PTH.
(1) Increases levels of Ca2* in blood
(2) Stimulates mineralisation of bones
(3) Increases Ca?* absorption from digested food
(4) Stimulates Ca?* reabsorption by renal tubules

183.All of the following are triploblastic coelomates
except

(1) Gorgonia (2) Limulus
(3) Pinctada (4) Nereis
184. Select the incorrect match.

(1) pOzin deoxygenated
blood

pO2 in alveolar air

40 mmHg

s

104 mmHg
45 mmHg
40 mmHg

—
w
~

pCO: in alveolar air

S

pCO: in systemic
arteries

185. In Rana tigrina, the hindlimbs end in 'A' digits

and forelimbs end in 'B' digits. Choose the

option that fills the blanks correctly.
A B
Five
Five
Four
Four
SECTION-B

In Periplaneta americana, a pair of large ovaries are
present in

186.

(1) 10t abdominal segment

(2) 2m — 6t abdominal segments
(3) 6t — 7t abdominal segments
(4) 5t — 7t abdominal segments

187. Which one of the following statements is correct

with respect to regulation of kidney functions?

(1) ANF is a vasoconstrictor and thereby decrease
the blood pressure

(2) Renin converts
angiotensin |

the angiotensin Il into

(3) Erythropoietin is produced by vasa recta of
juxtamedullary nephrons

(4) When a normal person drinks a lot of water,
ADH release is supressed

182. PTH o a1 o dey # faraw ug o1 = fifs
(1) ThH Ca2 o & T FeTdT &
(2) ATt 3 @i ot AT T ?
(3) T BT WIS & Ca?* STERINU &I T 2
(4) T ATTHIS T Ca?* oh THRIGTTT 3hi I T &

183. Torerer atfefien frfcriad et Brepifter weh €2
(1) Tt (2) fergera
(3) faererer (4) 3049
184, TETA THETH T =1 i)
(1) foiefiSfFa®dp02, - 40 mmHg
(2) FHfhagH pO, — 104 mmHg
(3) FHMHFIFHpCO,  — 45mmHg
(4) MFHemtAITpCO, - 40 mmHg
185. 77 AT, ar e A siforat it § 3 e

4 ‘B siferri gt 21 e forehed T S fieh v bt
TE & T 2

A B

(1) = e

(2) =W i

(3) U= L

(4) =R L
we-B

186. TRTGHET STHRHMT |, Th SISt I8 ATHN & HSH

Sufterd 81d &

(1) Hd ST T H

(2) DS IAI TS H

(3) BS- TIad T G T

(4) UTeE W GTdd 3 T I

Ik o T o T & wed § Frefafad § @ i ar

HoT e 87

(1) ANF U dTfeehreehivieh 8 37 36 ai8 Th 41el ol H
FAT ]

(2) X TR 11 s dfsEe R | § afafdd swar?

(3) ReNUIEfeA, SHEEHSA B hI T W °
Jearied gram ®

(4) ST Ueh AT afeh 3Tcafireh St diar 8, df ADH &
T ST 2 ST ®

187.
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188.

189.

190.

191.

192.

Read the following statements carefully and choose
the option that is incorrectly explained.

(1) Proteins are chains of amino acids which are
linked by peptide bonds.

(2) Inulin is a polymer of fructose.

(3) Starch can hold l2 molecules in the helical
portion.

(4) The sugar found in polynucleotides is always
ribose.

Select the correct statement.

(1) The tefR gene in pBR322 can be cleaved by
Pvul and Pstl.

(2) One can ligate a foreign DNA at BamHI site of
tetracycline resistance gene in pBR322.

(3) When a rDNA is inserted within the coding
sequence of B-galactosidase, it results into
insertional activation.

(4) The rop codes for the polysaccharides involved
in the replication of the plasmid.

‘In muscles, X' is called the functional unit of
contraction and ‘Y’ is the anatomical unit.

Here, ‘X’ and ‘Y’ respectively are
(1) Sarcomere and muscle fibre
(2) Sarcomere and fascicles

(3) Fascicles and muscle fibre

(4) Fascia and muscle fibre
Consider the equation given below.
S-G+8>S+S' -G

The enzyme catalysing given reactions belongs to
class

(1) |
(2) m

(3) 1l

4) v

If the change in allele frequency occurs by chance,
it is called

(1) Genetic equilibrium

(2)
3)
(4)

Genetic modification
Genetic drift

Gene flow

188.

189.

190.

191.

192.

frefafad ot 1 e ufer st 3w foswer &

< ST fSrerehT TSR TTerd 2

(1) S, STHIAT STRAT 3BT ST B1 & ST UeTee §et §
NSIRGHIRS

(2) T, RISt T TS g ©

(3) T o FEfoId AT I, 3707 ST o TRl &

(4) FTH=IfARTICTSSH H UTS ST JTet! Il SHITT TSaST
BT

TE U T AT HIT)

(1) pBR322 H tefR S @I Pvul 3R Pstl gRT foefera
fopa ST HepaT €

(2) pBR322 # ezramgferat uferieft S o BamHI Tt
X T STelt DNA T STl ST Eehal &

(3) SIS T rDNA i B-TTAFIATESST o6 HITST SFTHH o
e gfam fomam Sirar @ a1 e giomaeesy feeft
wfsraor T ®

(4) rop wATSHE % Sfehica § IS Al THRsed &
7T Fecrer T 2

X' T WE hi RATCHe SeRT3 aoT "Y' @ URf

HCSTcH TS Fad 2l

Tgt X R Y A €

(1) WTeRIFER UM g

(2) TR TR ATy

(3) e ST et i

(4) €dg I U= g

e fau T wefieRr w foem fifsg

S-G+S'>S8+S8 -G

& g iR i ST T el deeH R it @

Taifea 27

(11

) 1l

@) 1l

4) IV
afe srefiet st o aierd= w2 2T &, df 58 ed 8
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193.

194.

195.

196.

Who makes decisions regarding the validity of GM
research and the safety of introducing
GM - organisms for public services?

(1) European Foundation of Biotechnology
(2) European Federation of Biotechnology
(3) Genetic Engineering Approval Committee
(4) Genetic Engineering Appraisal Company

Read the statements carefully and select the

incorrect one w.r.t. PCR.

(1) Ifthe cycle is repeated 30 times, a DNA sample
can be amplified a billion times

(2) The Taq polymerase adds nucleotides in
3" — 5' direction to synthesize complementary
strands

(3) Denaturation is required to separate dsDNA
sample

(4) DNA polymerase is used in primer extension
step

Read the following statements and select the

correct option.

Statement A: The DNA fragments can be
separated by a technique known as gel
electrophoresis.

Statement B: The separated DNA fragments can
be visualized only after staining the DNA with
ethidium bromide followed by exposure of UV-
radiation.

(1) Both statements A and B are correct
(2) Only statement A is incorrect

(3) Only statement B is incorrect

(4) Both statements A and B are incorrect

Select the correct match between column | and
column Il.

Column|l Column i
a. Normal blood | i. 0.5 seconds
pressure
b. Duration of cardiac | ii. 120
—— mmHg
cycle 80
C. Duration between | iii. | 0.8 seconds
dub and lub

(1) a—ii, b—ii,c—i

(3) a—iii, b—ii, c—i

(2) a—i,b—ii, c — i
@) a—i, b—iii, c —ii

193.

194.

195.

196.

GM STTEHUT Hal-4d a1 hl FHTRT SR ST HrAl

% 1T GM - Sfrait 3 wfare i gerr anfe % s & fofr

I AT 272

(1) FUT SN e

(2) IR SESTENRTERT He

(3) TaiRTe Srfviteh! weqfa wfufa

(4) TSR SRR HeishT Hut

T BT S ¥ 9feq 3T PCR o He § TeTd e o

EpEEAISIY

(1) Ife =156 T 30 TR ST ST, AT TH DNA T
Teh 3T AT i foram ST whar 2

(2) 2% TSt Qe Afedl s wefod e & fag 3
— 5 foum & foeritersed i Siear &

(3) dsDNA T =l ST FA o [Tq, THfesheraheor st
JATETIHAT Bt &

(4) SUSHTHE TER =0T H DNA UTfeTiisT st ST femam
ST

FrfaRaa semt =1 afen it agt fommed s a7 Fifsg

FHAT A: DNA el &l S JEahure=ei THF Toh

Tehe1eh ST ST fohalT ST HehelT 2

HUT B: TUFRRT DNA Tei &1 qvf 3@ T & 5 39

DNA &1 3efifean simmse @ stfvrfsa st Uv-fafeor @

ST A B

(1) A 3R B I o e &

(2) FIAFIT A TAT

(3) FIAFUTB TAT &

(4) A 3R B 2T U TToid &

FrAd | T Haw || & = q@r T & oaw

EAIEIY

Earge | Earced||
a. | M Th e i. |05%he
b. |&IImEAIET | i @mmHg
80
c. |ed 3R o« & o= | iii. | 0.8 e
&Y 3rafer

(1) a—ii, b—iii, c — i

(3) a—iii,b—ii,c—i

(2) a—i, b—ii, c — i
@) a—i,b—iii, c—ii
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197.

198.

199.

200.

Read the statements carefully w.r.t. prostomium of
Pheretima and choose incorrect one from the
options given below.

(1) ltis sensory in function
(2) A lobe which serves as covering for the mouth

(3) It is 15t body segment (buccal segment) which
contains mouth

(4) It helps to open cracks in the soil into which it
can crawl

The floor of scala media is formed of
(1) Scala vestibuli

(2)
(3)
(4)

In a population of humans, 90 out of 1000 babies
are affected by a recessive condition called cystic

Basilar membrane
Reissner's membrane

Tectorial membrane

197.

198.

199.

HUHT F TSI % Hewl # 3 e st e g ufgu

It fow T forshedt & © TTera shel i =9 hitsy)

(1) I8 wE H Gadt arar ®

(2) T IITCA & ST @ I Gt T h1H AT @

(3) I IR T UgA WS (@ W) & forem @ g &

(4) T firgh o SO WieH § Hee T @ S g et S
T &

TheT HISAT T ST ST BT &

(1) Ther Aftesel &

(2) U feedt®

(3) Tz fereett &

(4) TFRITES faeeh @

wIST S T EHiE H, 1000 FRRpe # €@ 90 Ry gdw

LT Tk Teh ATl ferfa & wonfara ) swemfy o

)
)
)
)

fibrosis. In this population, the frequency of .
heterozygous individuals is %lilllg st st i & aﬁ g
(1) 0.4 (2) 0.2 (1) 0.4 (2) 0.2
(3) 0.42 (4) 0.8 (3) 0.42 (4) 0.8
Select the incorrect pair. 200. TTETe I T <RIT S
(1) |Corpus —|Connection between (1) | ket |~ | dfe d@aﬁsﬁ@q@%w
callosum cerebral hemispheres with TSR M) o st ohT Helel
a tract of nerve fibres : . :
— . (2) |[Trurft & |- (3uH #2 Fx A9 & ST IR *
(2) |Association - Conttams h.ah nur?btlarb (;)f A SR Y oz #
area centres which control body Bt !
temperature, urge for e
drinking (3) |eTieeie |~ [qifreRTaTelt RifTeRTeTt % S wE
(3) |[Hypothalamus |- | Contains several groups of aftafera g @
neurosecretory cells - - -
4) [Medull Contai t hich @ NI B mﬁﬁ@ﬁé@;ﬁﬁ%a}& Wﬁ’ aa;
(4) [Medulla —|Contains centres .w.|c ot . . .
oblongata control respiration, .
cardiovascular reflexes, efc Raal
o a a
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